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THE S-BLOCK ELEMENTS

1. Alkali metals are not found in free state due to their highly reactive
nature. This is due to

A. their large size and low ionisation enthalpy

B. their large size and high ionisation enthalpy

C. their low ionisation enthalyp and high electron gain enthalpy

D. their tendency to impart colour to the flame.

Answer: A


https://doubtnut.app.link/lkek2J5wfhb
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https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_jMIL86my0jSX

o Watch Video Solution

2.The ionisation energy of alkali metals decreases from Li to Cs bacause

A. the atomic size increases from Li to Cs

B. The sitance betweenn nucleus and outermost orbital decreases

from Li to Cs

C. electropositive character decreases down the group

D. melting point decreases from Li to Cs.

Answer: A

o Watch Video Solution

3. First ionisation energy of alkali metals is very low but second ionisation

energy is very high because


https://dl.doubtnut.com/l/_jMIL86my0jSX
https://dl.doubtnut.com/l/_G2fP4QYscnob
https://dl.doubtnut.com/l/_hnlGat4cQsz2

A. alkali metals acquire noble gas configuration after losing one

electron

B.a large amount of energy is required to remove electron from a

cation

C. alkali metals can form only univalent ions

D. first group elements can lose only one electron.

Answer: A

o Watch Video Solution

4. The solubility of alkli metals salts in water is due to the fact that the
cations get hydrated by water molecules. The degree of hydration
depends upon the size of the cation. If the trend of relative ionic radii is
Cs™ >Rb" >K" >Nat >Li".

What is the relative degree of hydration?

A.Cs’

(aq)>Pb+ > K’ >Na+a)>LiJr

(aq) (aq) (aq (aq)


https://dl.doubtnut.com/l/_hnlGat4cQsz2
https://dl.doubtnut.com/l/_nOdhCsT4p3oi

B.Lif . >Nal . >K" " .  >Rb' . >Cs'

(aq) (aq) (aq) (aq) (aq)
+ + + + . 4
C.Na(aq) > K(aq) > Rb(aq) > C’s(aq) > Lz(aq)
+ + . 4 + +
D. Cs(aq) > Na(aq) > Lz(aq) > K(aq) > Rb(aq)
Answer: B

o Watch Video Solution

5. The mobilities of the alkali metal ions in aqueous solution are
Lit < Nat < K" < Rb" < Cs™ because
A. greater is the degree of hydration, lesser is the mobility in aqueous
aqueous medium
B. larger the size of cation, greater is the mobility in aqueous medium
C.larger the size of cation, lesser is the mobility of ions in aqueous

medium


https://dl.doubtnut.com/l/_nOdhCsT4p3oi
https://dl.doubtnut.com/l/_JRic0EOCleIF

D.lesser the degree of hydration, lesser is the mobility of ions in

aqueous medium

Answer: A

° Watch Video Solution

6. Arrange the following elements in the order of the increasing

electropositive character.

Li, Na, K, Rb, Cs

A.Li > Na > K > Rb > Cs

B.Li < Na < K < Rb< Cs

C.Li > Na< K< Rb< Cs

D.Na > Li > K < Rb< Cs

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_JRic0EOCleIF
https://dl.doubtnut.com/l/_8bou3Bp0nEYj

7. Which is the characteristic flame colouration of Li?

A. Yellow

B. Violet

C.Blue

D. Crimson red

Answer: D

o Watch Video Solution

8. Which of the following is not true about alkali metals?

A. Alkali metals do not occur free in nature.

B. Alkali metals are good oxidising agents.

C. Alkali metals salts impart colour to the flame

D. Alkali metal salts are generally ionic.


https://dl.doubtnut.com/l/_8bou3Bp0nEYj
https://dl.doubtnut.com/l/_SSaB7YePIbIK
https://dl.doubtnut.com/l/_4BRMmMvI5y86

Answer: B

° Watch Video Solution

9. Which of the following alkali metals when burnt in air forms a mixture

of oxide as well as nitride?

A K

B. Na

C.Li

D.Cs

Answer: C

° Watch Video Solution

10. A metal M reaccts with nitrogen to give nitride which on reaction with

water produces ammonia gas. Metal M can be


https://dl.doubtnut.com/l/_4BRMmMvI5y86
https://dl.doubtnut.com/l/_ShAciVHPbbJY
https://dl.doubtnut.com/l/_NLkjGUfZe5xG

A.Na

B.K

C.Li

D.Rb

Answer: C

o Watch Video Solution

1. Alkali metals cannot be extracted by reduction of their oxides and

other compounds because

A. alkali metals are strong reducing agents

B. alkali metals have low ionisation enthalpy

C. alkali metals have high latice enthalpy

D. alkali metals are strongly basic in nature.

Answer: A



https://dl.doubtnut.com/l/_NLkjGUfZe5xG
https://dl.doubtnut.com/l/_zhDznSkSqWSX

| ° Watch Video Solution

12. When sodium reacts with excess of oxygen, oxidation number of

oxygen changes from

A.O to -1

B.O to -2

C—1to—-2

D. No change.
Answer: A

° Watch Video Solution

13. In all oxides, peroxides and superoxides, the oxidation sate of alkali

metals is

A+1and —1


https://dl.doubtnut.com/l/_zhDznSkSqWSX
https://dl.doubtnut.com/l/_j2nreywRY0Lr
https://dl.doubtnut.com/l/_uVaRSOu2u6jW

B.+1 and + 2

C.+1only

D.+1, — 1 and + 2

Answer: C

° Watch Video Solution

14. The normal oxide contains ion, peroxide contains ion and

superoxide contains___ion.

AO*,05,0,
B.O>,0,,05”
O ,0°,0%"
D.O,0% ,03
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_uVaRSOu2u6jW
https://dl.doubtnut.com/l/_8dN71J4OeQRI

15. When sodium is added in scanty water, it catches fire. In this process

which one of the following burns ?

A.Na

B. H,O

D. NaOH

Answer: C

o Watch Video Solution

16. What happens when H, is passed over lithium at 1073K?

A. Covalent lithium hydride is formed

B. Coloured complex is formed

C. lonic lithium hydride is formed



https://dl.doubtnut.com/l/_8dN71J4OeQRI
https://dl.doubtnut.com/l/_VTpL4CJ4kXj0
https://dl.doubtnut.com/l/_mboYPaPdbl9i

D. No reaction

Answer: C

o Watch Video Solution

17. On reaction with dihydrogen the alkali metals

A. form hydrides which are ionic solids with high melting points

B. form hydrides which are molcular solids with low melting points

C. form hydrides which are ionis solids with low melting points

D. form hydrides which are non-stoichiometric.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_mboYPaPdbl9i
https://dl.doubtnut.com/l/_kEhMqB7aSz6s

18. Lithium is the strongest reducing agent though it has highest

ionisation enegy in its group. Which of the followinng factors is

responsible for making Li the strongest reducing agent?

A. Large heat of atomisation

B. Smaller size

C. Large sublimation energy

D. Large amount of hydration enthalpy

Answer: D

o Watch Video Solution

19. E° for
CL,/Cl~ = +1.36,I,/I = +0.53,Ag" /Ag = +0.79, Na* /Na =

. What is the order of decreasing reducing sterngth for these species?

ALi>Cl” >Ag>1" > Na


https://dl.doubtnut.com/l/_1CVfRuotnSIT
https://dl.doubtnut.com/l/_wlxcTvIOy99G

B.Li > Na>1 > Ag > Cl™

C.Clm >Ag>1" > Na > Li

D.Na > Li > Ag > Cl™ > 1"

Answer: B

o Watch Video Solution

20. The alkali metals dissolve in ammonia to give a deep blue solution

which is cnducting in nature.

M+ (z + y)NH; — [M(NHy),]"" +2[e(NH3)y] which of the
followin is not true about the solutions of alkali metals in liquid
ammonia?

A. The blue colour is due to ammoniated electron

B. the solution is paramagnetic.

C. The blue colour changes to brown on standing


https://dl.doubtnut.com/l/_wlxcTvIOy99G
https://dl.doubtnut.com/l/_XnXzIMiLE3pW

D.In concentrated solution blue colour changes to bronze and

becomes diamagnetic

Answer: C

° Watch Video Solution

21. Superoxides of alkali metals act as oxidising agents while normal oxids

are basic in nature. The oxide which is paramagnetic in nature due to

presence of unparied electron is

A. NCL202

B. KO,

C. NG,QO

D. K202

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_XnXzIMiLE3pW
https://dl.doubtnut.com/l/_136DMGwtWQet

22. Complete the following equations:

(i) N(I,QOQ + 2H20 — (W) + H202

(iii) NasO + COy — (2)

AW — 4Na, X — K_(2)0, Y-H,0,Z — Na,O,
B.W — 4Na, X — K,0,Y — H,04, Z — NayCOs
C.W — 4NaOH, X — 2KOH,Y — H,0, Z — NayO,

D.W —2NaOH, X — 2KOH,Y — Hy05, Z — NayCOs

Answer: D

o Watch Video Solution

23. Crystalline sodium chloride is a bad conductor of electricity while

molten NaCl and its aqueous solution conduct electricity. This is because

A. crystalline sodium chloride contains molecules only


https://dl.doubtnut.com/l/_136DMGwtWQet
https://dl.doubtnut.com/l/_AxuCc7ApfOGa
https://dl.doubtnut.com/l/_PyI1a140V229

B. the ions present in it are not free to move in solid state

C.sodium chloride is a covalent crystal

D. solid substrances do not conduct electricity.

Answer: B

o Watch Video Solution

24. All alkali halides are soluble in water except LiF. The low solublity of LiF

in water is due to its (i) the low solubility of Csl is due to (ii) . LiF

is soluble in (iii) solvents.

A. (i) low lattice enthalpy, (ii) large hydration enthalpy, (iii) polar

solvents

B. (i) high lattice enthalpy, (ii) smaller hydration enthalpy, (iii)-non-

polar solvents

C. (i) high hydration enthalpy, (ii)-high lattice enthalpy, (iii)- non-polar

solvents


https://dl.doubtnut.com/l/_PyI1a140V229
https://dl.doubtnut.com/l/_NGBs9bKimGmc

D. (i)-smaller hydration enthalpy, (ii)-high lattice enthalpy, (iii)-polar

solvents

Answer: B

° Watch Video Solution

25. Which one of the following material conducts electricity?

A. Crystalline potassium chloride

B. Fused sulphates

C. Molten sodium chlroide

D. Diamond

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_NGBs9bKimGmc
https://dl.doubtnut.com/l/_ChgEAvzoLSOi

26. Which of the following increasing order is not correct as per the
property indicated against it?

A.CsCl < RbCl < KCl < NaCl < LiCl (lattice energy)

B. LiOH < NaOH < KOH (solubility in water)

CLi" <Nat < K" < Rbt < Cs™ (size of hydrated ion)

D. Nal < NaBr < NaCl < NaF (Lattice energy)

Answer: C

o View Text Solution

27. Wwhich of the following statements are true about the alkali metals?

A. All alkali metals form oxo salts such as carbonates, sulphates and

nitrates

B. the basic character of oxides increases down the group


https://dl.doubtnut.com/l/_oSgUDos7QTah
https://dl.doubtnut.com/l/_6CS8WyWcPIGo

C. Carbonates and sulphates of lithium are stable and their stability

decreases down the group

D. Solubility of carbonates and sulphates increases down the group.

Answer: C

° Watch Video Solution

28. Which of the following has lowest thermal stability ?

A. Li,CO4

B. N(IQCOg

C. K,CO4

D. Rb,CO4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6CS8WyWcPIGo
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29. A solution of a compound X in dilute HCl on treatment with a solution
of BaCl, gives a white precipitate of compound Y which is insoluble in
conc. HNO3 and and conc. HCI. Compound X imparts golden yellow

colour to the flame.

Conc. HNO
X (Solution in dilute HC1) + BaCl, - Y ———— Insoluble

(immparts golden yellow colour ) White  Conc. HCI

What are compounds X and Y?

A.Xis MgCly and Y is BaSOq
B.Xis CaCls and Y is BaSOy,
C.Xis Na2S0O4 and Y is BaSOy,

D.Xis MgSO4 and Y is BaSO,

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_iEYbrhgYJKco

30. Match the column I with column Il and mark the appropriate choice.

AA—iv,B—i,C —iii, D — ii

B.A — i,B — iii,C — ii, D — v

C.A —iii, B —ii,C — i, D — iv

D.A — iv,B—1i,C — ii, D — it

Answer: D

o Watch Video Solution

31. The properties of lithium are similar to those of Mg. This is because


https://dl.doubtnut.com/l/_bAP1Y80hpr6h
https://dl.doubtnut.com/l/_CBZun2gNFl0Y

A. both have nearly the same size

B. both have similar electronic configuration

C. both have nearly same charge to size ratio

D. Both are found together in nature

Answer: B

o Watch Video Solution

32. Lithium salts are mostly hydrated like L¢Cl - 2H50 due to

A. maximum ionisation enthalpy
B. maximum degree of hydration of Li ™
C. maximum hygroscopic nature

D. maximum chemical reactivity.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CBZun2gNFl0Y
https://dl.doubtnut.com/l/_nk7T3O4OTy0P

33. Which nitrate will decompose to give NO, on heating?

A NCLNO3

B. KNO;

C. RbNO;

D. LiNOj3

Answer: D

o Watch Video Solution

34. Which of the following does not show the amomalous behaviour of

lithium?

A. Lithium reacts with nitrogen to form a nitride

B. Lithium carbonate decomposes on heating

C. Lithium nitrate gives NO, on heating


https://dl.doubtnut.com/l/_nk7T3O4OTy0P
https://dl.doubtnut.com/l/_kJ79kzOm0i0s
https://dl.doubtnut.com/l/_UHsBQHblDgh3

D. lithium is the strongest reducing agent.

Answer: D

o Watch Video Solution

35. Fill up the blanks with appropriate choice.
Lithium and magnesium react slowly with water.
their hydroxides are__ soluble in water.

Carbonates of Li and Mg___ easily on heating. Both LiCl and MgCl,

are in ethanol and are they crystallise from their aqueous

A. More, do not decompose, soluble, hygroscopic, hydrates

B. less, decompose, soluble, deliquescent, hydrates

C. freely, sublime, insoluble, deliquescent, anhydrous

D. freely, docompose, soluble, hygroscopic, crystals

Answer: B


https://dl.doubtnut.com/l/_UHsBQHblDgh3
https://dl.doubtnut.com/l/_ihQx6ILWwTkB

o Watch Video Solution

36. In Solvay ammonia process, sodium bicarbonate is precipitated due to

A. presence of NHj3

B. reaction with C'O,

C. reaction with brine solution

D. reaction with NaOH.

Answer: C

o Watch Video Solution

37. k,C O3 cannot be prepared by solvay process because

A. KHCOs is less soluble than NaHCOs3

B. KHCOjs is more soluble to be precipitated by KCl and NH,HCO4

C. K,COs; is less soluble than NayCOs.


https://dl.doubtnut.com/l/_ihQx6ILWwTkB
https://dl.doubtnut.com/l/_50gxufEiQGcL
https://dl.doubtnut.com/l/_nvnTPC03owAK

Answer: B

° Watch Video Solution

38. What are the raw materials used in solvay's process?

A.NaCl, NH3, CaCO3

B. NaOH, CO,

C. NaCl, CaCOs3, C, Hy SOy

D. NH;, H,0, H,S0,

Answer: A

° Watch Video Solution

39. When washing soda is heated


https://dl.doubtnut.com/l/_nvnTPC03owAK
https://dl.doubtnut.com/l/_hxUupZLgnDUQ
https://dl.doubtnut.com/l/_aiSzGovEwyFK

A. CO is released

B. CO+C'O, is released

C.CO, is released

D. Water vapour is released.

Answer: D

o Watch Video Solution

40. Which of the following reaction is not a part of solvay's process for

preparation of sodium carbonate?

A. 2NH3 + HQO -+ 002 — (NH4)2CO3
B. (NH4)2003 + H20 + 002 — 2NH4H003
C. 2NH4H003 — (NH4)2CO3 + H2O + 002

D. NH4H003 + NaCl — NH4Cl + NCLH003

Answer: C



https://dl.doubtnut.com/l/_aiSzGovEwyFK
https://dl.doubtnut.com/l/_sxsqETl33hUN

| o Watch Video Solution

41. When kept open in air, the crystals of washing soda lose 9 molecules
off water to form a monohydrate.
exposed . .
NayCOs - 10H2O —— NaxCO3 - H2O + 9H50 this process is called
to air
A. efflorescence
B. deliquescence

C. dehydration

D. hydration

Answer: A

o Watch Video Solution

42. A white solid X on heating gives a white solid Y and an acid gas Z. gas
Z is also given out when X reacts with an acid. The compound Y is also

formed if caustic soda is left open in the atmosphere. X,Y and Z are


https://dl.doubtnut.com/l/_sxsqETl33hUN
https://dl.doubtnut.com/l/_Dngt6sOD2UfA
https://dl.doubtnut.com/l/_xLaYclulTxNq

A X — NaHCO:;, Y — NGQCOg, Z — 002

B.X — Na2003, Y — N(IOH, Z — COQ

CX— NCQCO:;, Y — NO,HCO?,, Z — 002

D.X — NaOH,Y — NaHCOs, Z — CO,

Answer: A

o Watch Video Solution

43. Which of the following statements is correct?

A. Sodium carbonate decomposes on heating

B.sodium biarbonate is more soluble in water than potassium

bicarbonate.

C. sodium when heated with excess of O, gives peroxide

D. Lithium halides are highly ionic in nature.

Answer: C


https://dl.doubtnut.com/l/_xLaYclulTxNq
https://dl.doubtnut.com/l/_IBIkfzNUlHVk

o Watch Video Solution

44. Which of the following statements in not correct regarding

preparation of NaOH/

A.NaOH is prepared by electrolysis of sodium chloride in castner-

kellner cell.

B. sodium metal discharged at cathode cmbines with mercury to form

sodium amalgam,.

C. Chlorine is evolved at anode.

D. Amalgam is heated to separate Na and Hg.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_IBIkfzNUlHVk
https://dl.doubtnut.com/l/_MXrVEijoqpxK

45. In the given

H>O+CO
9P + HyO + COy — Q =24

Identify S.

A Na2003

B. NaOH

C. NCLHCOg

D. NH;

Answer: C

chemical

aCl
or Y% 5 + NH,CI

reaction,

° Watch Video Solution

46.Baking soda is

A NaHCO3

B. NCLH003 . 6H2O

C. NCLQCOg


https://dl.doubtnut.com/l/_nToRU5FQY1o9
https://dl.doubtnut.com/l/_2HtBtgzdxd7i

D. NGQCOg . 10H20

Answer: A

° Watch Video Solution

47. Which of the following is not a use of baking soda?

A. In medicines as antacid

B. as a component of baking powder

C.in remvoing permanent hardness of water.

D. In fire extinguishers.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_2HtBtgzdxd7i
https://dl.doubtnut.com/l/_l5inDoO267YQ

48. Match the column I with column Il and mark the appropriate choice.

AA—iv,B—1i,C —ii,D — iii

B.A — iv, B —1,C — iii, D — ii

CA—ii,B—iii,C —iv,D — 1

D.A —iii,B—1,C — iv,D — i1

Answer: D

o Watch Video Solution

49. A certain compound X impats golden yellow flame. Whenzinc powder

is heated with concenrated solution of X, H2 gas is evolved. X combines


https://dl.doubtnut.com/l/_cgJhp9lOBXhj
https://dl.doubtnut.com/l/_tQmLJtTYeUZZ

with CO, to give a salt Y. Y is a hydrated salt which on reaction with HCI

or ecess of CO, gives another salt Z which is an important part of baking

powder. identify X, Y and Z.

A. X — NaOH,Y — NayCO3, Z — NaHCOs

B.X — HCl,Y — NaOH, Z — NaHCOs

C.X — KOH,Y — K,COs, Z — KHCOs

D.X — NaCl,Y — NayCO3, Z — NaOH

Answer: A

o Watch Video Solution

50. A white solid X reacts with dil. HCl to give colourless gas which is used

in fire extinguishers. The solid X is

A. NaCl

B. CH;COONa

C. NCI,QCO?,


https://dl.doubtnut.com/l/_tQmLJtTYeUZZ
https://dl.doubtnut.com/l/_T5XTbdg6gUmS

D. NCLHCOg

Answer: D

° Watch Video Solution

51. A metal X reacts with water to produce a highly combustible gas Y, and
a solution Z. another metal P reacts with Z to give the same gas Y. X,Y,Z
and P respectively are

A Zn, Hy, Zn(OH),, Al

B. Na, Hy, NaOH, Zn

C.K, H,, KOH, Al

D. Li, Hy, LiOH, K

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_T5XTbdg6gUmS
https://dl.doubtnut.com/l/_sHCsoQTzZIvm
https://dl.doubtnut.com/l/_glpxXqq9jQKB

52. What is the biological important of Na™ and K * ions in cell fluids
like blood plasma?
A. They participate in transmission of nerve signals.
B. They regulate the number of red and white blood corpuscles in the
cell
C.They ca be presence in any amount in the blood since they are
absorbed by the cells.

D. They regulate the viscosity and colour of the blood

Answer: A

o Watch Video Solution

53.Ca’" is isoelectronic with

A. Na

B. Mg>*


https://dl.doubtnut.com/l/_glpxXqq9jQKB
https://dl.doubtnut.com/l/_xRgiDAYm2B3I

C.Ba®™

D. Ar

Answer: D

° Watch Video Solution

54. Which of the following is not true about s-block elements?

A.They have large atomic sizes

B. They have lower ioinisation enthalpies

C. they have variable oxidation state

D. They form basic oxides

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_xRgiDAYm2B3I
https://dl.doubtnut.com/l/_hes8zr68Stly

55.The decreasing order of the second ionization potential of Mg, Ca and

Bais

A.Mg > Ca > Ba

B.Ca > Ba > Mg

C.Ba > Mg > Ca

D. Mg > Ba > Ca

Answer: A

o Watch Video Solution

56. The first ionisation enthalpies of the alkline earth metals are higher

than that of alkali metals but second ionisation ethalpies are smaller,

why?

A.In alkli metals, second ionisation enthylpy involves removal of

electron from noble gas electronic configuration while in alkaline


https://dl.doubtnut.com/l/_vuxuwLfZ0TgZ
https://dl.doubtnut.com/l/_KOh1YjW51Qz4

! configuration

earth metals, second electron is removed from ns
B. Alkaline earth metals hae very high melting point as compared to
alkali metals.
C.Electrons in s-orbital aremore closely packed in alkaline earth
metals than alkali metals.

D. due to smalle size alkaline earth metals do not form divalent ions

very easily

Answer: A

o Watch Video Solution

57. Match the column I with column Il and mark the appropriate choice.



https://dl.doubtnut.com/l/_KOh1YjW51Qz4
https://dl.doubtnut.com/l/_MWwGkL58hH9G

AA—1i,B—ii,C —iit,D— iv

B.A—ii,B— iv,C — i, D — it

CA—iv,B—1iii,C —ii,D—1i

D.A — iv, B — 1ii,C — i, D — 1

Answer: B

o Watch Video Solution

58. What is the formula of hydrated BeCl,?

A. BGCZQ : Hzo

B. BGCl2 : 2H20

C. BeC’l2 . 3H20

D. BBClz : 4H20

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_MWwGkL58hH9G
https://dl.doubtnut.com/l/_w7fHWMymOJHf

59. Which among the following is kinetically inert towards water?

A. Na

B. Be

C.Ca

D.K

Answer: B

o Watch Video Solution

60. An oxide of alkaline earth metals X reacts with C and Cl, to give a
compound Y. Y is found in polymeric chain structure and is electron
deficient molecule. The compound Y is

A.BeO

B. BGClz


https://dl.doubtnut.com/l/_w7fHWMymOJHf
https://dl.doubtnut.com/l/_iItH09rJcdYb
https://dl.doubtnut.com/l/_t99GdRCapzfP

C. Be(OH),

D. BeC’Og

Answer: B

° Watch Video Solution

61. When alkaline earth metals dissolve ini ammonia, they form coloured
solution like alkali metals. Which of the following observations regarding
the reaction are correct?

(i) Dilute solutions are bright blue in colour due to solvated electrons.

(ii) These solutions decompose to form amides and hydrogen.

(iii) From this solution the ammoniates

[M(NH?,)(JzJr can be recovered by evaporation.

A. Only (i) and (ii)
B. Only (i), (ii) and (iii)

C. Only (ii) and (iii)


https://dl.doubtnut.com/l/_t99GdRCapzfP
https://dl.doubtnut.com/l/_8REZ3MvoQ4US

D. Only (i)

Answer: B

° Watch Video Solution

62. Which of the following statements is correct regarding alkaline earth
metals?
A. Alkaline earth meals are weaker reducing agents than alkali metals
B. Alkaline earth metal salts are paramagnetic in nature
C.Alkaline earth metal salts are more soluble than corresponding
alkali meal salts.
D. solubility of sulphates of alkaline earth metals increases from top

to bottom in the group

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8REZ3MvoQ4US
https://dl.doubtnut.com/l/_OMTSpRkIfFC7

63. The increasing order of Dbasic character of oxides
MgO, SrO, K50 and Cs50 is

A MgO < SrO < K50 < Cs,0

B.CrO < MgO < (Cs,0 < K50

C.Csy0 < K70 < SrO < MgO

D. K,O < Cs,0 < S5m0 < MgO

Answer: A

o Watch Video Solution

64. Which of the following is arranged according to increasing basic

strength?

A.CaO < MgO < < 81O < BaO < BeO

B. BaO < SrO < CaO < MgO < BeO


https://dl.doubtnut.com/l/_OMTSpRkIfFC7
https://dl.doubtnut.com/l/_CO5f1OtOYpQ0
https://dl.doubtnut.com/l/_CTznwpG44xDV

C. BeO < MgO < CaO < BaO < SrO

D. BeO < MgO < CaO < SrO < BaO

Answer: D

o Watch Video Solution

65.BeO is insoluble but BaO is soluble as

A lattice energy of BeO is higher than BaO due to small size of Be?*

ion and its covalent nature

B. hydration energy of BeO is lower than BaO due to small size Be*"
ion

C. BeO is amphoteric in nature while BaO is basic

D. BeO forms hydrated salts while BaO forms anhydrous salts

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CTznwpG44xDV
https://dl.doubtnut.com/l/_Wr94vxb2wrLa

66. The pairr of amphoteric oxides is

A. BeO, ZnO

B. Al,O3, LisO

C. BGO, BOg

D. BeO, MgO

Answer: A

o Watch Video Solution

67. One word answers are given for the following, Mark the example which

is not correct.

A. Alkali metals with lowest melting point- Cs

B. Alkaline earth metal with higher hydration ethalpy- Ba*"


https://dl.doubtnut.com/l/_Wr94vxb2wrLa
https://dl.doubtnut.com/l/_C9D5wrB2mBrV
https://dl.doubtnut.com/l/_tQgMbt8VSBtF

C. Alkaline earth metal which imparts brick red colour to the flame-

Ca2+

D. Oxide of alkaline earth metal which is amphoteric in nature -BeO

Answer: B

° Watch Video Solution

68. Which of the following will have lowest value of K, at room
temperature?

A. Be(OH),

B. Mg(OH),

C.Ca(OH),

D. Ba(OH),

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_tQgMbt8VSBtF
https://dl.doubtnut.com/l/_AQrwf1jKsPxC

69. Two metals X and Y belong to the cond group of periodic table. X
forms insoluble oxide but soluble sulphate. Y forms a soluble oxide but
insoluble sulphate. Hydroxide of metal X is soluble in NaOH while that of
metal Y is insoluble in NaOH. What are metals X and Y?

A. X=Be,Y=Ba

B. X=Mg,Y=Ca

C. X=Ca,Y=Sr

D. X=Ba,Y=Mg

Answer: A

o Watch Video Solution

70. Calcium chloride is used as a dehydrating agent because

A. it has a strong affinity for water


https://dl.doubtnut.com/l/_AQrwf1jKsPxC
https://dl.doubtnut.com/l/_JB4K9FE2iOnS
https://dl.doubtnut.com/l/_bEsTlux60lns

B. it has water of crystalline attached to it

C. it loses water when exposed to air

D. it has a high melting point.

Answer: A

o Watch Video Solution

71. What happens when magnesium is burnt in airr and the products X
and Y are treated with water?

Air
Mg— X + Y
1H,0 | Hy,O
P P+Q

A X — MgO,Y — Mg(OH),, P — Mg(OH),, Q — N
B.X — MgO,Y — MgsNy, P — Mg(OH),,Q — NH;
C.X — MgO,Y — MgsNy, P — Mg(OH),,Q — Ny

D.X — MgO,Y — MgCOs, P — Mg(OH),, @ — CO;

Answer: B


https://dl.doubtnut.com/l/_bEsTlux60lns
https://dl.doubtnut.com/l/_vafa895VnLMP

o Watch Video Solution

72. When BeCl; is hydrolysed, white fumes of gas are given out. The
intensity of fumesintensifies when a rod dipped in moist ammonia is
brought near the mouth of the test tube. The gas which comes out
during hydrolysis is

A.Cls

B. HCI

C. NH,OH

D. NH,Cl

Answer: B

o Watch Video Solution

73. Which is the correct sequence of solubility of carbonates of alkaline

earth metals?


https://dl.doubtnut.com/l/_vafa895VnLMP
https://dl.doubtnut.com/l/_8hLx4pAFuZvi
https://dl.doubtnut.com/l/_kFtFD3lAjfRe

A. BaCO3 > SrCO5 > CaCO5 > MgCO;4

B. MgCO3 > CaCO3 > SrCO3 > BaCO;5

C. CGCOg > BaCO3 > S’I"COg > M9003

D. BaCO3 > CaCO3 > SrC0O3 > MgCOs3

Answer: B

o Watch Video Solution

74. Which of the following bicarbonate does not exist in solid state?

A. NaHCOg
B.KHCO;3
C.Ca(HCOs),

D. RbHCO4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_kFtFD3lAjfRe
https://dl.doubtnut.com/l/_22fJxGjZUbn2

75. Which of the following compounds are not arranged in correct order

as indicated?

A . SrCLy < CaCly < MgCly < BeCls (increasing of hydrolysis)
B. SrCly, < CaCly < MgCly < BeCl, (increasing lattice energy)
C.CaS0,4 < MgS0O4 < BeSOy (increasing stability)

D. Be(OH), < Mg(OH), < Ca(OH), (increasing solubility)

Answer: C

o View Text Solution

76. Sulphates of Be and Mg are readily soluble in water but sulphates of

Ca, Sr and Ba are insoluble. This is due to the fact

A. the greater hydration enthapies of Be?t and Mg®™ overcome the

lattice enthalpy


https://dl.doubtnut.com/l/_22fJxGjZUbn2
https://dl.doubtnut.com/l/_MwpZ8Ph8x07p
https://dl.doubtnut.com/l/_8xenjgRTQGEw

B. high lattice enthalpy of Be?" and Mg®>" makes them soluble in
water

C. solubility decreases from BeSO, to BaSO, due to increase in ionic
size

D. BeSO, and MgSO, are ionic in nature while other sulphates are

covalent

Answer: A

° Watch Video Solution

77.The correct order of solubility of the sulphates of alkaline earth metals

in water is

A.Be > Ca > Mg > Ba > Sr

B.Mg > Be > Ba > Ca > Sr

C.Be > Mg > Ca > Sr > Ba


https://dl.doubtnut.com/l/_8xenjgRTQGEw
https://dl.doubtnut.com/l/_LBHuIjOv2Aqj

D. Mg > Ca > Ba > Be > Sr

Answer: C

o Watch Video Solution

Metal nitrate —2€aLs Solid +N02+ 02
(P) (Q)

HCI

\ 2
Solution

/(NH 4),CO;

dil. HCl White srecioi
Solutlon «— 1te precipitate

K,Cro, (B)

Yellow precipitate

(S)
78.

What are (P),(Q),(R) and (S)?
A.P — Be(NO3),, Q — BeO, R — BeCO3, S — BeCrO,
B.P — NCI,N03, Q - NCLQO, R — Na2003, S — NCL2C7"O4

C. P — Ba(NOs),, Q@ — BaO, R — BaCO3, S — BaCrOy


https://dl.doubtnut.com/l/_LBHuIjOv2Aqj
https://dl.doubtnut.com/l/_HZlZuYLQ245M

D.P — KNO3, Q — Kgo, R — KgCOg, S — KgC’T‘O4

Answer: C

o Watch Video Solution

79. Beryllium shows diagonal relationship with aluminium. Which of the

following similarly is incorrect?

A. Be,C like Al,C5 yields methane on hydrolysis
B. Be like Al is rendered passive by HNOj3
C. Be(OH), like AI(OH), is basic

D. Be forms beryllates and Al forms aluminates.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_HZlZuYLQ245M
https://dl.doubtnut.com/l/_dqWf8nmAB22r

80. Which of the following does not show diagonal relationship between

beryllium and aluminium?

A.Both BeO and Al,O3 are amphoteric in nature.

B. Both beryllium and aluminium form polymeric covalent hydrides.

C.Both beryllium and aluminium form nitrides with nitrogen which

evolve NH; with water.

D. Both metal carbonates are highly stable.

Answer: D

o Watch Video Solution

81. Which of the following is not the point of difference between Be and

other alkline earth metals?

A. It has a tendency to form covalent bonds.

B. It dissolves in alkalies with evolution of hydrogen


https://dl.doubtnut.com/l/_uKIHuq5KFufj
https://dl.doubtnut.com/l/_7XdbWjPOr8Ql

C. Its oxides and hydroxides are amphoteric.

D. its carbide gives acetylene on hydrolysis.

Answer: D

o Watch Video Solution

82. Which of the following is not a similarly of beryllium with aluminium?

A. It becomes passive when treated with conc. HNOs.

B. It forms polymerric covalent hydrides

C. Carbonate of Be is extremely stable

D. saltts of Be do not impart colour to the flame.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_7XdbWjPOr8Ql
https://dl.doubtnut.com/l/_Apme592vT0dU

8. Identify W, X, Y and Z respectively in the given reactions.
CaCO; “5 W + X
W+ Hy,O —»Y
Y +7Z — NaOH + CaCOs
A.Ca0O, CO,, CaCO3, NayCOs4
B.CO,, Ca(OH),, Ca(HCO),, NaHCOs;
C.Ca0O, CO,, Ca(OH),, Na;COs3

D. COQ, CGO, HQCOg, NGQCOg

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_CukDcKQ9FPGE

Y —1€4Ls Residue + Colourless gas

heating water

excess of
/ € co, Y

Identify X, Y and Z.

Identify X, Y and Z.

A X — Ca(HCO),,Y — CaCOs, Z — Ca(OH),
B.X — CaCO3,Y — Ca(OH),, Z — Ca(HCOs),
C.X — CaC0Os,Y — CaO, Z — Ca(OH),

D. X — CaCOs,Y — CaO, Z — Ca(HCO;),

Answer: B

o Watch Video Solution

85. Slaked lime reacts with chlorine to form


https://dl.doubtnut.com/l/_NBQduy1Padpd
https://dl.doubtnut.com/l/_bEeHqSKxGe8e

A CGCZQ

B.CaO

C. CaOClz

D. CG,COg

Answer: C

° Watch Video Solution

86. Match the column I with column Il and mark the appropriate choice.

AA—i,B—ii,C —iii, D — iv

B.A —ii,B—ii,C — i, D — v


https://dl.doubtnut.com/l/_bEeHqSKxGe8e
https://dl.doubtnut.com/l/_wEdSSVialHnL

CA—i,B—iii,C —iv,D — i1

D.A — iv, B — 1ii,C — i1, D — 1

Answer: D

o Watch Video Solution

87. An element X burns in nitrogen to give a compound Y which on
reaction with water gives a compound Z and a gas with a pungent smell.
Z can be used during construction and white washing. When excess of
CO, is bubbled through 7, a compound P is formed which on heeating
decomposes to give a compourless, odourless gas. identify X, Y, Z and P.

A X —Ca,Y — CagNy, Z — Ca(OH),, P — Ca(HCO;),

B.X — Mg,Y — MgO, Z — Mg(OH),, P — MgCOs

C.X—-CaY —CasN,, Z — Ca(OH),, P — CaCO;

D.X — Ca,Y — CaO, Z — Ca(OH),, P — Ca(HCO3),

Answer: A


https://dl.doubtnut.com/l/_wEdSSVialHnL
https://dl.doubtnut.com/l/_zhHQNArmguld

° Watch Video Solution

88. when plaster of paric comes in contact with water it sets into a hard
mass. The composition of the hard mass is

A CCI,SO4 . H2O

B.CaSO, - Ca(OH),

C.CaS0O, - 2H,0

D.CaSO, - 2Ca(OH),

Answer: C

o Watch Video Solution

89. Which of the following is not present in portland cement?

A Ca3 Alg 06

B. C’a3Sz'O5


https://dl.doubtnut.com/l/_zhHQNArmguld
https://dl.doubtnut.com/l/_kxOapsbfmTix
https://dl.doubtnut.com/l/_KcvLYPtQIXpK

C. CCLQS’?:O4

D. C’a,3(P04)2

Answer: D

o Watch Video Solution

90. The difference of number of water molecules in gypsum and plaster of

Pairs is

A5
2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_KcvLYPtQIXpK
https://dl.doubtnut.com/l/_Id5K6lDUYaSY
https://dl.doubtnut.com/l/_VgzDeasN3XrX

91. Gypsum is added to portland cement to

A. fasten the process of setting
B. slow down the process of setting
C. improve the colour of the cement

D. increase the melting point of cement.

Answer: B

° Watch Video Solution

92. Match the column I with column Il and mark the appropriate choice.



https://dl.doubtnut.com/l/_VgzDeasN3XrX
https://dl.doubtnut.com/l/_63Cjm4Mg2we5

AA—i,B—iv,C —ii, D — it

B.A — iv, B — i,C — iii, D — i

CA—ii,B—iii,C — i, D — v

D.A — iii, B — ii,C — iv,D — 1

Answer: B

o Watch Video Solution

93. Study the road map for preparation of washing soda and fill the

blanks
A + H,0 + NH,CI
[P]=>[0] —=[R]—* 5[5} 11O
+
CcO (a gas soluble
2 in water)

+CO
Na,CO; + CO, + H,0 < [V ]2 [T]«—T]

P — CaCOs,Q — CaO, R — Ca(OH),, S — NHs, T — NH,OH, U -


https://dl.doubtnut.com/l/_63Cjm4Mg2we5
https://dl.doubtnut.com/l/_HS9BU5sRroBo

P — CaCly, Q — CaO, R — Ca(OH),, § — HCI, T — HCI, U — Na.

P — CaCly, Q — CaO, R — CaCO;, S — NH;, T — HCL, U — NHy(

P — CaCO;,Q — CaO, R — Ca(OH),,S — HCI,T — Cl,,U — Ca(

Answer: A

o View Text Solution

94, Identify X, Y and z
2Caso42H20 120°C X 200°C ; Y strongl! heatcda Z+ SO2 + 02

Gypsum
H,0

1
A. X-Plaster of paris (C’aSO4 . 5H2O),Y-Zburnt plaster (CaSO.), Z-

Quick lime (Ca0)


https://dl.doubtnut.com/l/_HS9BU5sRroBo
https://dl.doubtnut.com/l/_Ftuzfu5oaG4g

1

B. X-Calcium sulphate (CaSO,), Y-Plaster of Paris (C’aSO4 . EH2O)

,Z-Quick lime (Ca0)

. . 1 .

C. X-Quick lime (Ca0), Y-Plaster of paris (CaSO4 . §H20>, Z-Lime

water (Ca(OH),)

i 1

D. X-Plaster of paris (CaSO4 . EHZO)’ Y-Burnt plaster (CaO), zZ-

slaked lime (ca(OH)z)

Answer: A

° Watch Video Solution

95. The average composition of portland cement is

A.Ca0:40 — 50 % , Si05:30 — 40 % , Al,O3, Fes0O5:10 — 20 %

Ca0:50 — 60 %, Si05:20 — 25 % , AlyO3:5 — 10 % , MgO:2 — 3%

CS’LO240-50%,0&030—40%,Al20310—20%


https://dl.doubtnut.com/l/_Ftuzfu5oaG4g
https://dl.doubtnut.com/l/_EwRLttJP0otz

D.Ca0:50 %, Si05:50 %

Answer: B

° Watch Video Solution

96. The metal ion which plays an important role in muscle contraction is

A Be’t
B. Mg>*
C.Ca**

D. Ba®™

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_EwRLttJP0otz
https://dl.doubtnut.com/l/_bs61C7NE3Cui

97. Which of the following metals is required as cofactor byh all enzymes

utilisation ATP in phosphate transfer?

A K

B.Ca

C.Na

D. Mg

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ExSKLmh56FpI

98. Match the column | with column Il and mark the appropriate choice.

AA— i, B—iii,C—ii,D— iv

B.A — v, B — iii,C — ii, D — 1

CA—i,B—ii,C — iii, D — iv

D.A — iii, B — iv,C — ii, D — 1

Answer: D

o Watch Video Solution

Higher Order Thinkin Skills


https://dl.doubtnut.com/l/_z8MkCX3PZCMb
https://dl.doubtnut.com/l/_3jZdtjlErY58

1. The low solubility of LiF and that of Csl in water are respectively due to
which of the properties of the alkali metal ions?
A. Higher hydration enthalpy of Li ", higher lattice enthalpy of C's ™
B. Smaller hydration enthalpy of Li ", higher latttice enthalpy of C's ™
C. Smaller lattice enthalpy of Li *, higher hydration enthalpy of C's ™

D. Higher lattice enthalpy of Li ", smaller hydration enthalpy of Cs ™.

Answer: D

o Watch Video Solution

2.The violet flame shown by potassium in bunsen flame is due to jumping

of the electron from

A.1s to 4p

B. 1s tto 5p

C.4p to 4s


https://dl.doubtnut.com/l/_3jZdtjlErY58
https://dl.doubtnut.com/l/_wKaCnrijcdOJ

D. 5p to 4s

Answer: D

° Watch Video Solution

NH4Cl + (4)—> Microcosmic salt
Heat
Heat

B) T3mg (©

3 Violet bead

(A), (B) and (C) respectively are
A. NasPO4, NaPOs, (Mn)3(P04)2
B. N(IQHPO4, NCL3PO4, MTL3(PO4)2
C. NayHPO,, NaPO;, Mn(PO3),

D. NCL2HPO4, NaPO3, NCLMTLPO4

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wKaCnrijcdOJ
https://dl.doubtnut.com/l/_mt36H6BIrF8R

4. A compound of sodium does not give CO, when heated but it gives
CO5 when treated with dilute acids. A crystalline compound is found to
have 37.1% Na and 14.52% H>0O. Hence, compound is

A.NaHCO; - 10H,0O

B. NCLHCOg . 5H20

C. N(lgCOg . 10H2O

D. Na,2003 : HQO

Answer: D

o Watch Video Solution

5. Nuclear attraction is often the deciding control factor for the
association of neutral molecules to a given metal ion. Which onee of the
following represents the correct order of stability of the ions?

[Be(H,0),]*", [Mg(H,0),)* ", [Ca(H,0),]*" and [Sr(H,0),}*"


https://dl.doubtnut.com/l/_mt36H6BIrF8R
https://dl.doubtnut.com/l/_qiU3tldzIABp
https://dl.doubtnut.com/l/_WVL25xADyG2t

[136(112()4]2+ > [sr(H204]2+ > [Mg(H,0),]°" > [Ca(H,0),]""

[Ca(H,0),]”" > [Mg(H,0),]*" > [Be(H,0),]’" > > [S(H,0)

[Sr(H,0),]”" > [Ca(H,0),]*" > [Mg(H,0),]"" > [Be(H,0),]

[Be(H,0),]*" > [Mg(H,0),)*" > [Ca(H,0),]*" > [Srr(H,0),

Answer: D

o Watch Video Solution

6. Be and Al exhibit diagonal relationship. Which of the following
statements about them is/are not true?
(i) both react with HCl to liberate H,.

(ii) Theey are made passive by HNOj.


https://dl.doubtnut.com/l/_WVL25xADyG2t
https://dl.doubtnut.com/l/_51tkDHwTs8ZE

(iii) Their carbides give acetylene on treatment with water.

(iv) Their oxides are amphoteric.

A. (iii) and (iv)

B. (i) and (iii)

C. (i) only

D. (iii)) only

Answer: D

o Watch Video Solution

7. A metal M readily forms its sulphate M.SO, which is water soluble. It

forms its oxide MO which becomes inert on heating. It forms its
insoluble hydroxide M(OH), which is soluble in NaOH solution. Then
Mis

A. Be

B. Ba


https://dl.doubtnut.com/l/_51tkDHwTs8ZE
https://dl.doubtnut.com/l/_qKU0lAzRKI6a

C.Ca

D. Mg

Answer: A

° Watch Video Solution

8. A metal salt solution forms a yellow precipitate with potassium
chromate in acetic acid, a white precipitate with dilute sulphuric acid but
does not give precipitate with sodium chloride or iodide. The white
precipitate obtained when sodium carbonate is added to the metal salt
solution will consist of

A. lead carbonate

B. basic lead carbonate

C. barium carbonate

D. strontium carbonate.

Answer: C


https://dl.doubtnut.com/l/_qKU0lAzRKI6a
https://dl.doubtnut.com/l/_5k9aZRXfLYrX

o Watch Video Solution

9. The element A burns in nitrogen to give an ionic compound B. the
compound B reacts with water to give C and D. A solution of C becomes
milkly on bubbling carbon dioxide. What is the natrue of compound (D)?

A. Acidic

B. Basic

C. Amphoteric

D. Neutral

Answer: B

o Watch Video Solution

10. The stability off K50, K05 and KO, is in order
K,0 < Ky05 < KQOs. This increasing stability as the size of metal ion

increases is due to stabilisation of


https://dl.doubtnut.com/l/_5k9aZRXfLYrX
https://dl.doubtnut.com/l/_iIn2hWPHiTN7
https://dl.doubtnut.com/l/_qiKh0po1o7Ui

A. larger cation by smaller anions through lattice energy effects

B. larger cation by larger anions through lattice energy effects

C. smaller cations by smaller anions through melting point

D. smaller cations by larger anions through melting point.

Answer: B

o Watch Video Solution

Exemplar Problems

1. The alkali metals have low melting point. Which of the following alkali

metal is expected to melt if the room temperature rises to 30°C'?

A.Na

B.K

C.Rb

D.Cs


https://dl.doubtnut.com/l/_qiKh0po1o7Ui
https://dl.doubtnut.com/l/_lynqyJvCm2iO

Answer: D

° Watch Video Solution

2. Alkali metals react with water vigorously to form hydroxides and
dihydrogen. Which of the following alkali metals reacts with water least
vigorously ?

A Li

B. Na

C.K

D.Cs

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_lynqyJvCm2iO
https://dl.doubtnut.com/l/_2YFq1eZemvma

3.The reducing power of a metal depends on various factors. Suggest the

factor which makes Li, the strongest reducing agent in aqueous solution.

A. Sublimation enthalpy

B. lonisation enthylpy

C. Hydration enthalpy

D. Electron-gain enthalpy

Answer: C

o Watch Video Solution

4. Metal carbonates decompose on heating to give metal oxide and

carbon dioxide. Which of the metal carbonates is most stable thermally?

A MQCOg

B. CCLCO3

C.S5rCO;


https://dl.doubtnut.com/l/_cyk0F8AWgYr9
https://dl.doubtnut.com/l/_R1dGc1q1h6mY

D. BaC’O3

Answer: D

° Watch Video Solution

5. Which of the carbonates given below is unstable in air and is kept in

CO, atmosphere to avoid decomposition?

A. BGCO3

B. M9003

C.CaCOg

D. BCLCOg

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_R1dGc1q1h6mY
https://dl.doubtnut.com/l/_7tc7yAOsuXmT

6. Metals form basic hydroxides. Which of the following metal hydroxide
is the least basic?

A Mg(OH),

B.Ca(OH),

C.Sr(OH),

D. Ba(OH),

Answer: A

o Watch Video Solution

7.Some of the Group 2 metal halides are covalent and soluble in organic
solvents. Among the following metal halides, the one which is soluble in
ethanol is

A BGCl2


https://dl.doubtnut.com/l/_3jrdMGu3RGrW
https://dl.doubtnut.com/l/_4DbksoDiHifW

C. CCLCZQ

D. SrCl,

Answer: A

° Watch Video Solution

8.The order of decreasing ionisation ethalpy in alkali metals is

A.Na >Li > K > Rb

B.Rb< Na < K < Li

C.Li > Na > K > Rb

D.K < Li < Na < Rb

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4DbksoDiHifW
https://dl.doubtnut.com/l/_Huw58O4GhcPO

9. The solubility of metal halides depends on their nature, Lattice

enthalpy and hydration enthalpy of the individual ions. Amongst fluorides

of alkali metals, the lowest solubility of LiF in water is due to

A. ionic nature of lithium fluoride

B. high lattice enthalpy

C. high hydration enthalpy for lithium ion

D. low ionisation enthalpy of lithium atom

Answer: B

o Watch Video Solution

10. Amphoteric hydroxides react with both alkalies and acids. Which of

the following Group 2 metal hydroxides is soluble in sodium hydroxide?

A. Be(OH),

B. Mg(OH),


https://dl.doubtnut.com/l/_up2H2agRcHus
https://dl.doubtnut.com/l/_3sujmuugjpVG

C.Ca(OH),

D. Ba(OH),

Answer: A

° Watch Video Solution

11.In the synthesis of sodium carbonate, the recovery of ammonia is done
by treating NH,Cl with Ca(OH),. The by-product obtained in this
process is

A. CaCl,

B. NaCl

C. NaOH

D. NCLHCOg

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3sujmuugjpVG
https://dl.doubtnut.com/l/_CrxZ5c2nbdKB

12. When sodium is dissolved in liquid ammonia, a solution of deep blue

colour is obtained. The colour of the solution is due to

A. ammoniated electron
B. sodium ion
C.sodium amide

D. ammoniated sodium ion

Answer: A

o Watch Video Solution

13. By adding gypsum to cement

A. setting time of cement becomes less
B. setting time of cement increases

C. colour of cement becomes light


https://dl.doubtnut.com/l/_CrxZ5c2nbdKB
https://dl.doubtnut.com/l/_TF02MHbGDO5y
https://dl.doubtnut.com/l/_cFbagJDOzlyS

D. shining surface is obtained

Answer: B

° Watch Video Solution

14. Dead burnt plaster is

A. CCLSO4

1
B. CGSO4 . EHQO
C.CaS0Oy - H,O

D. CCLSO4 . 2H20

Answer: A

o Watch Video Solution

15. Suspension of slaked lime in water is known as


https://dl.doubtnut.com/l/_cFbagJDOzlyS
https://dl.doubtnut.com/l/_ugK1oTolTBqR
https://dl.doubtnut.com/l/_heW3RlVVTX4A

A. lime water

B. quick lime

C. milk of lime

D. aqueous solution of slaked lime

Answer: C

o Watch Video Solution

16. Which of the followingg elements does not form hydride by direct

heating with dihydrogen?

A. Be

B. Mg

C.Sr

D.Ba

Answer: A



https://dl.doubtnut.com/l/_heW3RlVVTX4A
https://dl.doubtnut.com/l/_00k3yI30vNXS

| ° Watch Video Solution

17. The formula of soda ash is

A NCL2003 : 10H20

B. N(IQCOg . 2H20

C. NCIQCOg . HQO

D. NCL2003

Answer: D

° Watch Video Solution

18. A substance which gives a brick red flame and breaks down on heating

to give oxygen and a brown gas is

A. magnesium nitrate

B. calcim nitrate


https://dl.doubtnut.com/l/_00k3yI30vNXS
https://dl.doubtnut.com/l/_cBTIgOj2CiVg
https://dl.doubtnut.com/l/_mr2nVc10YciL

C. barium nitrate

D. strontium nitrate

Answer: B

° Watch Video Solution

19. Which of the following statements is true about Ca(OH),?

A. It is sued in the preparation of bleaching powder.
B. It is a light blue solid.
C. it does not possess disinfectant property

D. it is used in the manufacture of cement.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mr2nVc10YciL
https://dl.doubtnut.com/l/_5mZjhvGUjXdY

20. A chemical A is used for the preparation of washing soda to recover
ammonia. When C'O, is bubbled through an aqueous solution of A, the
solution turns milky. It is used in white washing due to disinfectant
nature what is the chemical formula of A?

A. CG(HCO3)2

B. CaO

C.Ca(OH),

D. CaCO3

Answer: C

o Watch Video Solution

21. Dehydration of hydrates of halides of calcium, barium and strontium
ie, CaCl,. 6H,0, BaCI,.2H,0, SrCI,.2H,O, can be achieved by
heating. These become wet on keeping in air. Which of the following

statements is correct about these halides?


https://dl.doubtnut.com/l/_B7ISe6bxcDhQ
https://dl.doubtnut.com/l/_EkdMlII7MRvX

A. Act as dehydrating agent.

B. Can adsorb moisture from air

C. Tendency to form hydrate decreases from calcium to barium

D. All of the above

Answer: D

o Watch Video Solution

1. Assertion: Elements of group 1 are called 'alkali metals'.

Reason: All the alkali metals react with water.

A.If both assertion and reason are true and reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion


https://dl.doubtnut.com/l/_EkdMlII7MRvX
https://dl.doubtnut.com/l/_20tePNnOmn46

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

° Watch Video Solution

2. Assertion: Lithium resembles magnesium diagonally placed in next

group.
Reason: The size of Li" and Mg?" are different and their
electropositive character is same.
A.If both assertion and reason are true and reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion
C. If assertion is true but reason is false.

D. If both assertion and reason are false.


https://dl.doubtnut.com/l/_20tePNnOmn46
https://dl.doubtnut.com/l/_qvmrykrdtwr7

Answer: C

o Watch Video Solution

3. Assertion: Alkali metals are obtained by electrolysis of molten salt and
not aqueous solution.
Reason: The discharge potential of H * ions is lower than alkali metals
cation hence hydrogen is dicharged at cathode instead of metal.
A.If both assertion and reason are true and reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qvmrykrdtwr7
https://dl.doubtnut.com/l/_NikatfjU3EkW

4. Assertion: Lithium salts are mostly hydrated.

Reason: The hydration enthalpies of alkalie metal ions decrease with

increase in ionic sizes.

A.If both assertion and reason are true and reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_NikatfjU3EkW
https://dl.doubtnut.com/l/_LEycei28hYSB

5. Assertion: The melting and boiling points of the alkali metals are low.

Reason: Alkali metals have weak metalli bonding.

A.If both assertion and reason are true and reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

° Watch Video Solution

6. Assertion: Lithium fluoride is most covalent in nature.

Reason: Small anion can be easily distorted.


https://dl.doubtnut.com/l/_AnXpGBFOjL36
https://dl.doubtnut.com/l/_rkHNutshuKuK

A.If both assertion and reason are true and reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: D

o Watch Video Solution

7. Assertion: The carbonate of lithium decomposes easily on heating.
Reason: Lithium being very small in size polarises large carbonate ion
leading to the formation of more stable Li,O and CO,.

A.If both assertion and reason are true and reason is the correct

explanation of assertion


https://dl.doubtnut.com/l/_rkHNutshuKuK
https://dl.doubtnut.com/l/_iQRZoPbRp5OQ

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

o Watch Video Solution

8. Assertion : Super-oxides of alkali metals are para-magnetic.
Reason : Super-oxides contain the ion O, which has one unpaired
electron.
A.If both assertion and reason are true and reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion

C. If assertion is true but reason is false.


https://dl.doubtnut.com/l/_iQRZoPbRp5OQ
https://dl.doubtnut.com/l/_uzVN0M5R90wx

D. If both assertion and reason are false.

Answer: A

o Watch Video Solution

9. Assertion: Be and Mg do not impat characteristic colour to the flame.

Reason: both Be and Mg have high ionization energy.

A.If both assertion and reason are true and reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_uzVN0M5R90wx
https://dl.doubtnut.com/l/_tEpMtOqHpQzt

10. Assertion: The fluorides of alkaline earth metals are relatively less
soluble than chlorides.
Reason: Fluorides have high latttice energies.
A.If both assertion and reason are true and reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion
C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

o Watch Video Solution

11. Assertion: Be is readily attacked by acids.

Reason: Be shows diagonal relationship to Na.


https://dl.doubtnut.com/l/_tEpMtOqHpQzt
https://dl.doubtnut.com/l/_S6vlWhX6U8JB
https://dl.doubtnut.com/l/_4VXZWCDNe7gz

A.If both assertion and reason are true and reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: D

° Watch Video Solution

12. Assertion: Alkaline earth metal oxides are quite stable to heat.
Reason: Enthalpies of formation of alkaline earth metal oxides are quite
high.

A.If both assertion and reason are true and reason is the correct

explanation of assertion


https://dl.doubtnut.com/l/_4VXZWCDNe7gz
https://dl.doubtnut.com/l/_RscZZJ2LeUTJ

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

o Watch Video Solution

13. Assertion: BeSO, and MgSQO, are insoluble in water.
Reason: Be?™ and Mg?" have low hydration enthalpies.
A.If both assertion and reason are true and reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion

C. If assertion is true but reason is false.


https://dl.doubtnut.com/l/_RscZZJ2LeUTJ
https://dl.doubtnut.com/l/_UTSpqyDV5ZGU

D. If both assertion and reason are false.

Answer: D

o Watch Video Solution

14. Assertion: CaCOj is prepared by passing carbon dioxide gas through
slaked lime.
Reason: Passingg excess of CO, through slaked lime leads to the
formation off quick lime.
A.If both assertion and reason are true and reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.


https://dl.doubtnut.com/l/_UTSpqyDV5ZGU
https://dl.doubtnut.com/l/_lwv39PaRT8s9

Answer: C

o Watch Video Solution

15. Assertion: For biological functions in human body, barium is not

required.

Reason: Barium is a divalent ion.

A. If both assertion and reason are true and reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lwv39PaRT8s9
https://dl.doubtnut.com/l/_gQk4QDgnX1DH

Group 1 Elements Alkali Elements

1. Alkali metals are not found in free state due to their highly reactive

nature. This is due to

A. their large size and low ionisation enthalpy

B. their large size and high ionisation enthalpy

C. their low ionisation enthalyp and high electron gain enthalpy

D. their tendency to impart colour to the flame.

Answer: A

° Watch Video Solution

2.The ionisation energy of alkali metals decreases from Li to Cs bacause

A. the atomic size increases from Li to Cs


https://dl.doubtnut.com/l/_jMIL86my0jSX
https://dl.doubtnut.com/l/_G2fP4QYscnob

B. The sitance betweenn nucleus and outermost orbital decreases

from Li to Cs

C. electropositive character decreases down the group

D. melting point decreases from Li to Cs.

Answer: A

o Watch Video Solution

3. First ionisation energy of alkali metals is very low but second ionisation

energy is very high because

A. alkali metals acquire noble gas configuration after losing one

electron

B.a large amount of energy is required to remove electron from a

cation

C. alkali metals can form only univalent ions


https://dl.doubtnut.com/l/_G2fP4QYscnob
https://dl.doubtnut.com/l/_hnlGat4cQsz2

D. first group elements can lose only one electron.

Answer: A

° Watch Video Solution

4. The solubility of alkli metals salts in water is due to the fact that the
cations get hydrated by water molecules. The degree of hydration
depends upon the size of the cation. If the trend of relative ionic radii is
Cs* >Rb" >K* > Na* > Li",

What is the relative degree of hydration?

ACs () > Pbiyg) > K (o) > Nafyy > Lify,
B.Li(ygy > Na(y) > K(yyy > Rb(y > Cs
C-Na (o) > Klogy > Bbog) > O3 () > Li(ay)
D. Cszraq) > NaELaq) > Li?_aq) > K(Jraq) > RbELaq)

Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_hnlGat4cQsz2
https://dl.doubtnut.com/l/_nOdhCsT4p3oi

5. The mobilities of the alkali metal ions in aqueous solution are

Lit < Nat < KT < Rb™ < Cs™ because

A. greater is the degree of hydration, lesser is the mobility in aqueous

aqueous medium

B. larger the size of cation, greater is the mobility in aqueous medium

C.larger the size of cation, lesser is the mobility of ions in aqueous

medium

D.lesser the degree of hydration, lesser is the mobility of ions in

aqueous medium

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nOdhCsT4p3oi
https://dl.doubtnut.com/l/_JRic0EOCleIF

6. Arrange the following elements in the order of the increasing

electropositive character.

Li, Na, K, Rb, Cs

ALt > Na > K > Rb > Cs

B.Li < Na < K < Rb< Cs

C.Li > Na< K< Rb< Cs

D.Na > Li > K < Rb< Cs

Answer: B

o Watch Video Solution

7. Which is the characteristic flame colouration of Li?

A. Yellow

B. Violet

C.Blue


https://dl.doubtnut.com/l/_8bou3Bp0nEYj
https://dl.doubtnut.com/l/_SSaB7YePIbIK

D. Crimson red

Answer: D

° Watch Video Solution

8. Which of the following is not true about alkali metals?

A. Alkali metals do not occur free in nature.

B. Alkali metals are good oxidising agents.

C. Alkali metals salts impart colour to the flame

D. Alkali metal salts are generally ionic.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_SSaB7YePIbIK
https://dl.doubtnut.com/l/_4BRMmMvI5y86

9. Which of the following alkali metals when burnt in air forms a mixture

of oxide as well as nitride?

A K

B. Na

C.Li

D.Cs

Answer: C

o Watch Video Solution

10. A metal M reaccts with nitrogen to give nitride which on reaction with

water produces ammonia gas. Metal M can be

A.Na

B.K

C.Li


https://dl.doubtnut.com/l/_ShAciVHPbbJY
https://dl.doubtnut.com/l/_NLkjGUfZe5xG

D.Rb

Answer: C

° Watch Video Solution

1. Alkali metals cannot be extracted by reduction of their oxides and

other compounds because

A. alkali metals are strong reducing agents

B. alkali metals have low ionisation enthalpy

C. alkali metals have high latice enthalpy

D. alkali metals are strongly basic in nature.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_NLkjGUfZe5xG
https://dl.doubtnut.com/l/_zhDznSkSqWSX

12. When sodium reacts with excess of oxygen, oxidation number of

oxygen changes from

A.Oto -1
B.Oto -2
C.—1to—-2
D. No change.
Answer: A

o Watch Video Solution

13. In all oxides, peroxides and superoxides, the oxidation sate of alkali

metals is
A.+1and —1
B.+1 and + 2

C.+1only


https://dl.doubtnut.com/l/_j2nreywRY0Lr
https://dl.doubtnut.com/l/_uVaRSOu2u6jW

D.+1, —1 and + 2

Answer: C

o Watch Video Solution

14. Match column | wht colun Il and mark the appropriate choice.

A A— i, B—ii,C — i

B.A — iii,B — ii,C — i

CA—iii,B—1i,C — 1

D.A — ii, B — iii,C — 1

Answer: C



https://dl.doubtnut.com/l/_uVaRSOu2u6jW
https://dl.doubtnut.com/l/_yTqhrJo3C6jO

l & Watch Video Solution J

15. The normal oxide contains ion, peroxide contains ion and

superoxide contains___ion.

AO* 05,0,
B.O*",0,,05"
c.O ,0°,0%
D.O™,0* ,0%
Answer: A

o Watch Video Solution

16. When sodium is added in scanty water, it catches fire. In this process

which one of the following burns ?

A.Na


https://dl.doubtnut.com/l/_yTqhrJo3C6jO
https://dl.doubtnut.com/l/_8dN71J4OeQRI
https://dl.doubtnut.com/l/_VTpL4CJ4kXj0

B. H,O

C. H,

D. NaOH

Answer: C

° Watch Video Solution

17. What happens when H, is passed over lithium at 1073K?

A. Covalent lithium hydride is formed

B. Coloured complex is formed

C. lonic lithium hydride is formed

D. No reaction

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_VTpL4CJ4kXj0
https://dl.doubtnut.com/l/_mboYPaPdbl9i
https://dl.doubtnut.com/l/_kEhMqB7aSz6s

18. On reaction with dihydrogen the alkali metals

A. form hydrides which are ionic solids with high melting points

B. form hydrides which are molcular solids with low melting points

C. form hydrides which are ionis solids with low melting points

D. form hydrides which are non-stoichiometric.

Answer: A

o Watch Video Solution

19. Lithium is the strongest reducing agent though it has highest
ionisation enegy in its group. Which of the followinng factors is
responsible for making Li the strongest reducing agent?

A. Large heat of atomisation

B. Smaller size

C. Large sublimation energy


https://dl.doubtnut.com/l/_kEhMqB7aSz6s
https://dl.doubtnut.com/l/_1CVfRuotnSIT

D. Large amount of hydration enthalpy

Answer: D

° Watch Video Solution

20. E° for
CL,/Cl~ = +1.36,I,/I = +0.53,Ag" /Ag = + 0.79, Na* /Na =
.What is the order of decreasing reducing sterngth for these species?

ALi>Cl” >Ag>1 > Na

B.Li > Na>1" > Ag > Cl™

C.Cl~ >Ag>1" > Na > Li

D.Na > Li > Ag>Cl™ >1"

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1CVfRuotnSIT
https://dl.doubtnut.com/l/_wlxcTvIOy99G
https://dl.doubtnut.com/l/_XnXzIMiLE3pW

21. The alkali metals dissolve in ammonia to give a deep blue solution

which is cnducting in nature.

M+ (z + y)NHy — [M(NH;),]"" + 2[e(NH3)y] which of the
followin is not true about the solutions of alkali metals in liquid
ammonia?

A.The blue colour is due to ammoniated electron

B. the solution is paramagnetic.

C. The blue colour changes to brown on standing

D.In concentrated solution blue colour changes to bronze and

becomes diamagnetic

Answer: C

° Watch Video Solution

General Characteristic Of The Compounds Of The Alkali Metals



https://dl.doubtnut.com/l/_XnXzIMiLE3pW

1. Superoxides of alkali metals act as oxidising agents while normal oxids
are basic in nature. The oxide which is paramagnetic in nature due to
presence of unparied electron is

A. Na202

B. KO,

C. NG,QO

D. K202

Answer: B

o Watch Video Solution

2. Complete the following equations:

(i) NCLQOQ + 2H2O — (W) + H202

(iii) NasO + COy — (Z)


https://dl.doubtnut.com/l/_136DMGwtWQet
https://dl.doubtnut.com/l/_AxuCc7ApfOGa

AW — 4Na, X — K_(2)0, Y-H,0,Z — Na,O,

B.W — 4Na, X — KQO, Y — H202, Z — Na20’03

C.W — 4NaOH, X — 2KOH,Y — H,0, Z — Na,O,

D.W — 2NaOH, X — 2KOH,Y — Hy0,, Z — Na,COs

Answer: D

o Watch Video Solution

3. Crystalline sodium chloride is a bad conductor of electricity while

molten NaCl and its aqueous solution conduct electricity. This is because

A. crystalline sodium chloride contains molecules only

B. the ions present in it are not free to move in solid state

C.sodium chloride is a covalent crystal

D. solid substrances do not conduct electricity.

Answer: B



https://dl.doubtnut.com/l/_AxuCc7ApfOGa
https://dl.doubtnut.com/l/_PyI1a140V229

| o Watch Video Solution

4. All alkali halides are soluble in water except LiF. The low solublity of LiF

in water is due to its (i) the low solubility of Csl is due to (ii) . LiF

is soluble in (iii) solvents.

A. (i) low lattice enthalpy, (ii) large hydration enthalpy, (iii) polar

solvents

B. (i) high lattice enthalpy, (ii) smaller hydration enthalpy, (iii)-non-

polar solvents

C. (i) high hydration enthalpy, (ii)-high lattice enthalpy, (iii)- non-polar

solvents

D. (i)-smaller hydration enthalpy, (ii)-high lattice enthalpy, (iii)-polar

solvents

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PyI1a140V229
https://dl.doubtnut.com/l/_NGBs9bKimGmc

5. Which one of the following material conducts electricity?

A. Crystalline potassium chloride

B. Fused sulphates

C. Molten sodium chlroide

D. Diamond

Answer: C

o Watch Video Solution

6. Which of the following increasing order is not correct as per the
property indicated against it?

A.CsCl < RbCl < KCl < NaCl < LiCl (lattice energy)

B. LiOH < NaOH < KOH (solubility in water)

CLi" <Nat < K" < Rbt < Cs™ (size of hydrated ion)


https://dl.doubtnut.com/l/_NGBs9bKimGmc
https://dl.doubtnut.com/l/_ChgEAvzoLSOi
https://dl.doubtnut.com/l/_oSgUDos7QTah

D. Nal < NaBr < NaCl < NaF (Lattice energy)

Answer: C

° View Text Solution

7. Wwhich of the following statements are true about the alkali metals?

A. All alkali metals form oxo salts such as carbonates, sulphates and

nitrates

B. the basic character of oxides increases down the group

C. Carbonates and sulphates of lithium are stable and their stability

decreases down the group

D. Solubility of carbonates and sulphates increases down the group.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_oSgUDos7QTah
https://dl.doubtnut.com/l/_6CS8WyWcPIGo
https://dl.doubtnut.com/l/_BZBckSjo6RMp

8. Which of the following has lowest thermal stability ?

A. Li,CO4

B. NCLzCO?,

C. K;,CO4

D. Rb,CO;

Answer: A

o Watch Video Solution

9. A solution of a compound X in dilute HCl on treatment with a solution
of BaCl, gives a white precipitate of compound Y which is insoluble in
conc. HNO3 and and conc. HCI. Compound X imparts golden yellow

colour to the flame.

Conc. HNO
X (Solution in dilute HC1) + BaCly - Y ———— Insoluble

(immparts golden yellow colour ) White  Conc. HCl

What are compounds X and Y?


https://dl.doubtnut.com/l/_BZBckSjo6RMp
https://dl.doubtnut.com/l/_iEYbrhgYJKco

A.Xis MgCly and Y is BaSOy,

B.Xis CaCly, and Y is BaSOy,

C.Xis Na3SO4 and Yis BaSO,

D.Xis MgSO, and Y is BaSOy,

Answer: C

o Watch Video Solution

Anomalous Properties Of Lithium

1. The properties of lithium are similar to those of Mg. This is because

A. both have nearly the same size
B. both have similar electronic configuration
C. both have nearly same charge to size ratio

D. Both are found together in nature


https://dl.doubtnut.com/l/_iEYbrhgYJKco
https://dl.doubtnut.com/l/_CBZun2gNFl0Y

Answer: B

° Watch Video Solution

2. Lithium salts are mostly hydrated like LiC'l - 2H50 due to

A. maximum ionisation enthalpy
B. maximum degree of hydration of Li ™
C. maximum hygroscopic nature

D. maximum chemical reactivity.

Answer: B

° Watch Video Solution

3. Which nitrate will decompose to give NO, on heating?

A NCLNO3


https://dl.doubtnut.com/l/_CBZun2gNFl0Y
https://dl.doubtnut.com/l/_nk7T3O4OTy0P
https://dl.doubtnut.com/l/_kJ79kzOm0i0s

B. KNOs

C. RbNO;

D. LiNOj3

Answer: D

° Watch Video Solution

4. Which of the following does not show the amomalous behaviour of

lithium?

A. Lithium reacts with nitrogen to form a nitride

B. Lithium carbonate decomposes on heating

C. Lithium nitrate gives NO, on heating

D. lithium is the strongest reducing agent.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_kJ79kzOm0i0s
https://dl.doubtnut.com/l/_UHsBQHblDgh3

5. Fill up the blanks with appropriate choice.
Lithium and magnesium react slowly with water.
their hydroxides are soluble in water.

Carbonates of Li and Mg___ easily on heating. Both LiCl and MgCl,

are in ethanol and are they crystallise from their aqueous

A. More, do not decompose, soluble, hygroscopic, hydrates

B. less, decompose, soluble, deliquescent, hydrates

C. freely, sublime, insoluble, deliquescent, anhydrous

D. freely, docompose, soluble, hygroscopic, crystals

Answer: B

° Watch Video Solution

Some Important Compounds Of Sodium



https://dl.doubtnut.com/l/_UHsBQHblDgh3
https://dl.doubtnut.com/l/_ihQx6ILWwTkB
https://dl.doubtnut.com/l/_50gxufEiQGcL

1. In Solvay ammonia process, sodium bicarbonate is precipitated due to

A. presence of NHj

B. reaction with C'O,

C. reaction with brine solution

D. reaction with NaOH.

Answer: C

o Watch Video Solution

2. ko C'O3 cannot be prepared by solvay process because

A. KHCQOs is less soluble than NaHCOs

B. KHCOj is more soluble to be precipitated by KCl and NH,HC O3

C. K;,COs is less soluble than Nay,COs.


https://dl.doubtnut.com/l/_50gxufEiQGcL
https://dl.doubtnut.com/l/_nvnTPC03owAK

Answer: B

° Watch Video Solution

3. What are the raw materials used in solvay's process?

A NaCl, NH;, CaCO;

B. NCLOH, 002

C. NaCl, CaCOs3, C, Hy SOy

D. NH;, H,0, H,S0,

Answer: A

° Watch Video Solution

4.When washing soda is heated

A. CO is released


https://dl.doubtnut.com/l/_nvnTPC03owAK
https://dl.doubtnut.com/l/_hxUupZLgnDUQ
https://dl.doubtnut.com/l/_aiSzGovEwyFK

B. CO+CO, is released

C.CO, is released

D. Water vapour is released.

Answer: D

° Watch Video Solution

5. Which of the following reaction is not a part of solvay's process for
preparation of sodium carbonate?

A.2NH; + H2O + 002 — (NH4)2003

B. (NH4)2CO3 + H2O + COQ — 2NH4HCO3

C. 2NH4H003 — (NH4)2003 + HQO + 002

D.NH HCO3 + NaCl - NH,Cl + NaHCO3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_aiSzGovEwyFK
https://dl.doubtnut.com/l/_sxsqETl33hUN

6. When kept open in air, the crystals of washing soda lose 9 molecules off
water to form a monohydrate.
exposed . .
NayCOs3 - 10H,O —— Na2COs - HyO + 9H>O0 this process is called
to air
A. efflorescence
B. deliquescence

C.dehydration

D. hydration

Answer: A

o Watch Video Solution

7. A white solid X on heating gives a white solid Y and an acid gas Z. gas Z
is also given out when X reacts with an acid. The compound Y is also

formed if caustic soda is left open in the atmosphere. X, Y and Z are


https://dl.doubtnut.com/l/_sxsqETl33hUN
https://dl.doubtnut.com/l/_Dngt6sOD2UfA
https://dl.doubtnut.com/l/_xLaYclulTxNq

AX — NaHCO:;, Y — NGQCOg, Z — 002

B.X — NayCO3,Y — NaOH, Z — CO,

CX-— NCQCO:;, Y — NG,HCO?,, Z — 002

D.X — NaOH,Y — NaHCO;3, Z — CO,

Answer: A

o Watch Video Solution

8. Which of the following statements is correct?

A. Sodium carbonate decomposes on heating

B.sodium biarbonate is more soluble in water than potassium

bicarbonate.

C. sodium when heated with excess of O, gives peroxide

D. Lithium halides are highly ionic in nature.

Answer: C


https://dl.doubtnut.com/l/_xLaYclulTxNq
https://dl.doubtnut.com/l/_IBIkfzNUlHVk

o Watch Video Solution

9. Which of the following statements in not correct regarding

preparation of NaOH/

A.NaOH is prepared by electrolysis of sodium chloride in castner-

kellner cell.

B. sodium metal discharged at cathode cmbines with mercury to form

sodium amalgam,.

C. Chlorine is evolved at anode.

D. Amalgam is heated to separate Na and Hg.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_IBIkfzNUlHVk
https://dl.doubtnut.com/l/_MXrVEijoqpxK

10. In the given chemical reaction,

H20+ CO2 NaCl
> 2R

2P + H,0 + COy — Q , S 4+ NH,CI

Identify S.

A. Na2003

B. NaOH

C. NCLHCOg

D. NH;

Answer: C

° Watch Video Solution

11. Baking soda is

A NCLHCO3

B. NCLH003 . 6H2O

C. NCLQCOg


https://dl.doubtnut.com/l/_nToRU5FQY1o9
https://dl.doubtnut.com/l/_2HtBtgzdxd7i

D. NGQCOg . 10H20

Answer: A

° Watch Video Solution

12. Which of the following is not a use of baking soda?

A. In medicines as antacid

B. as a component of baking powder

C.in remvoing permanent hardness of water.

D. In fire extinguishers.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_2HtBtgzdxd7i
https://dl.doubtnut.com/l/_l5inDoO267YQ

13. A certain compound X impats golden yellow flame. Whenzinc powder
is heated with concenrated solution of X, H, gas is evolved. X combines
with CO, to give a salt Y. Y is a hydrated salt which on reaction with HCI
or ecess of CO, gives another salt Z which is an important part of baking
powder. identify X, Y and Z.

A. X — NaOH,Y — NayCO3, Z — NaHCOj3

B.X — HClL,Y — NaOH,Z — NaHCO;

C.X - KOH,Y — K,CO3,Z — KHCO;4

D.X — NaCl,Y — NaysCOs, Z — NaOH

Answer: A

o Watch Video Solution

14. A white solid X reacts with dil. HCl to give colourless gas which is used

in fire extinguishers. The solid X is


https://dl.doubtnut.com/l/_tQmLJtTYeUZZ
https://dl.doubtnut.com/l/_T5XTbdg6gUmS

A. Nadcl

B. CH;COONa

C. NCL2CO3

D. NaHCO3

Answer: D

o Watch Video Solution

15. A metal X reacts with water to produce a highly combustible gas Y, and
a solution Z. another metal P reacts with Z to give the same gas Y. X,Y,Z
and P respectively are

A Zn, Hy, Zn(OH),, Al

B. Na, Hy, NaOH, Zn

C.K, H,, KOH, Al

D. Li, Hy, LiOH, K


https://dl.doubtnut.com/l/_T5XTbdg6gUmS
https://dl.doubtnut.com/l/_sHCsoQTzZIvm

Answer: B

o Watch Video Solution

16. What is the biological important of Na™ and K * ions in cell fluids
like blood plasma?
A. They participate in transmission of nerve signals.
B. They regulate the number of red and white blood corpuscles in the
cell
C.They ca be presence in any amount in the blood since they are
absorbed by the cells.

D. They regulate the viscosity and colour of the blood

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_sHCsoQTzZIvm
https://dl.doubtnut.com/l/_glpxXqq9jQKB

Group 2 Elements Alkaline Earth Metals

1.Ca®" is isoelectronic with

A. Na
B. Mg?*
C. Ba®**

D. Ar

Answer: D

° Watch Video Solution

2. Which of the following is not true about s-block elements?

A. They have large atomic sizes

B. They have lower ioinisation enthalpies

C. they have variable oxidation state


https://dl.doubtnut.com/l/_xRgiDAYm2B3I
https://dl.doubtnut.com/l/_hes8zr68Stly

D. They form basic oxides

Answer: C

° Watch Video Solution

3. The decreasing order of the second ionization potential of Mg, Ca and

Bais

A.Mg > Ca > Ba

B.Ca > Ba > Mg

C.Ba > Mg > Ca

D. Mg > Ba > Ca

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_hes8zr68Stly
https://dl.doubtnut.com/l/_vuxuwLfZ0TgZ

4. The first ionisation enthalpies of the alkline earth metals are higher
than that of alkali metals but second ionisation ethalpies are smaller,
why?

A.In alkli metals, second ionisation enthylpy involves removal of
electron from noble gas electronic configuration while in alkaline
earth metals, second electron is removed from ns' configuration

B. Alkaline earth metals hae very high melting point as compared to
alkali metals.

C.Electrons in s-orbital aremore closely packed in alkaline earth
metals than alkali metals.

D. due to smalle size alkaline earth metals do not form divalent ions

very easily

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KOh1YjW51Qz4

5. What is the formula of hydrated BeCly?

A BeCl, - H,O

B. BeCl, - 2H50

C. BBCl2 : 3H20

D. BGCl2 : 4H20

Answer: D

° Watch Video Solution

6. Which among the following is kinetically inert towards water?

A.Na

B. Be

C.Ca

D.K


https://dl.doubtnut.com/l/_w7fHWMymOJHf
https://dl.doubtnut.com/l/_iItH09rJcdYb

Answer: B

° Watch Video Solution

7. An oxide of alkaline earth metals X reacts with C and Cl, to give a
compound Y. Y is found in polymeric chain structure and is electron
deficient molecule. The compound Y is

A.BeO

B. BGCl2

C. Be(OH),

D. 36003

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_iItH09rJcdYb
https://dl.doubtnut.com/l/_t99GdRCapzfP

8. When alkaline earth metals dissolve ini ammonia, they form coloured
solution like alkali metals. Which of the following observations regarding
the reaction are correct?

(i) Dilute solutions are bright blue in colour due to solvated electrons.

(ii) These solutions decompose to form amides and hydrogen.

(iii) From this solution the ammoniates

[M(NHg)ﬁ]2Jr can be recovered by evaporation.

A. Only (i) and (ii)
B. Only (i), (ii) and (iii)
C. Only (ii) and (iii)

D. Only (i)

Answer: B

o Watch Video Solution

General Characteristic Of The Compounds Of The Alkaline Earth Metals



https://dl.doubtnut.com/l/_8REZ3MvoQ4US
https://dl.doubtnut.com/l/_OMTSpRkIfFC7

1. Which of the following statements is correct regarding alkaline earth

metals?

A. Alkaline earth meals are weaker reducing agents than alkali metals

B. Alkaline earth metal salts are paramagnetic in nature

C. Alkaline earth metal salts are more soluble than corresponding

alkali meal salts.

D. solubility of sulphates of alkaline earth metals increases from top

to bottom in the group

Answer: A

o Watch Video Solution

2. The increasing order of basic character of oxides

MgO, SrO, K50 and Cs50 is

A MgO < SrO < K70 < Csy0


https://dl.doubtnut.com/l/_OMTSpRkIfFC7
https://dl.doubtnut.com/l/_CO5f1OtOYpQ0

B.CrO < MgO < (Cs,0 < K>,O

C.Cs50 < K50 < SrO < MgO

D. K,0 < Csy0 < SrO < MgO

Answer: A

° Watch Video Solution

3. Which of the following is arranged according to increasing basic

strength?

A.Ca0O < MgO < < SrO < BaO < BeO

B. BaO < SrO < CaO < MgO < BeO

C. BeO < MgO < CaO < BaO < SrO

D. BeO < MgO < CaO < SrO < BaO

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_CO5f1OtOYpQ0
https://dl.doubtnut.com/l/_CTznwpG44xDV

4.BeO is insoluble but BaO is soluble as

A. lattice energy of BeO is higher than BaO due to small size of Be?*
ion and its covalent nature

B. hydration energy of BeO is lower than BaO due to small size Be*"
ion

C. BeO is amphoteric in nature while BaO is basic

D. BeO forms hydrated salts while BaO forms anhydrous salts

Answer: A

o Watch Video Solution

5.The pairr of amphoteric oxides is

A. BeO, ZnO

B. Al,O3, LiO



https://dl.doubtnut.com/l/_CTznwpG44xDV
https://dl.doubtnut.com/l/_Wr94vxb2wrLa
https://dl.doubtnut.com/l/_C9D5wrB2mBrV

C. BeO, B03

D. BeO, MgO

Answer: A

o Watch Video Solution

6. One word answers are given for the following, Mark the example which
is not correct.
A. Alkali metals with lowest melting point- Cs
B. Alkaline earth metal with higher hydration ethalpy- Ba*"
C. Alkaline earth metal which imparts brick red colour to the flame-
Ca "

D. Oxide of alkaline earth metal which is amphoteric in nature -BeO

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_C9D5wrB2mBrV
https://dl.doubtnut.com/l/_tQgMbt8VSBtF

7. Which of the following will have lowest value of K, at room

temperature?

A. Be(OH),
B. Mg(OH),
C.Ca(OH),

D. Ba(OH),

Answer: A

o Watch Video Solution

8. Two metals X and Y belong to the cond group of periodic table. X forms
insoluble oxide but soluble sulphate. Y forms a soluble oxide but
insoluble sulphate. Hydroxide of metal X is soluble in NaOH while that of

metal Y is insoluble in NaOH. What are metals X and Y?


https://dl.doubtnut.com/l/_tQgMbt8VSBtF
https://dl.doubtnut.com/l/_AQrwf1jKsPxC
https://dl.doubtnut.com/l/_JB4K9FE2iOnS

A. X=Be,Y=Ba

B. X=Mg,Y=Ca

C. X=Ca,Y=Sr

D. X=Ba,Y=Mg

Answer: A

o Watch Video Solution

9. Calcium chloride is used as a dehydrating agent because

A. it has a strong affinity for water

B. it has water of crystalline attached to it

C. it loses water when exposed to air

D. it has a high melting point.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_JB4K9FE2iOnS
https://dl.doubtnut.com/l/_bEsTlux60lns

10. What happens when magnesium is burnt in airr and the products X
and Y are treated with water?

Air
Mg— X + Y
LH,0 | Hy,O
P P+Q

A X — MgO,Y — Mg(OH),, P — Mg(OH),, Q — N
B.X — MgO,Y — MgsNy, P — Mg(OH),,Q — NH;
C.X — MgO,Y — MgsNy, P — Mg(OH),,Q — Ny

D.X — MgO,Y — MgCO3, P — Mg(OH),, @ — CO;

Answer: B

o Watch Video Solution

1. When BeCl; is hydrolysed, white fumes of gas are given out. The
intensity of fumesintensifies when a rod dipped in moist ammonia is
brought near the mouth of the test tube. The gas which comes out

during hydrolysis is


https://dl.doubtnut.com/l/_bEsTlux60lns
https://dl.doubtnut.com/l/_vafa895VnLMP
https://dl.doubtnut.com/l/_8hLx4pAFuZvi

A. Cl,

B. HCI

C.NH,OH

D. NH,Cl

Answer: B

o Watch Video Solution

12. The following two figures represent

e/Cl\ /c1\ /CI\
\c1/ \C}/ \C,/
(1) (ii)

Cl—B /C]\Be —cl
N c1/

A. (i) BeCl, is a dimer in vapour phase, (ii) BeCl, is chain structure in
solid state

B. (i) BeCl, is solid state, (ii) BeCl, is in vapour phase



https://dl.doubtnut.com/l/_8hLx4pAFuZvi
https://dl.doubtnut.com/l/_SfItnWzhFdz3

C. (i) BeCl, is monomer in solid state, (ii) BeCl, is linear polymer in

vapour phase

D. (i) BeCl, is linear monomer, (ii) BeCl, is three dimensional dimer

Answer: A

o Watch Video Solution

13. Which is the correct sequence of solubility of carbonates of alkaline

earth metals?

A. BaCO3 > SrCO5 > CaCO3 > MgCO;3

B. MgCO3 > CaCO;3 > SrCO3 > BaCOs

C.CaCO3 > BaCO3 > SrCO3 > MgCOs

D. BGCOg > C(ICO3 > STCOg > M9003

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_SfItnWzhFdz3
https://dl.doubtnut.com/l/_kFtFD3lAjfRe

14. Which of the following bicarbonate does not exist in solid state?

A. NCI,HCOg
B.KHCO;3
C.Ca(HCO3),

D. RbHCO4

Answer: C

o Watch Video Solution

15. Which of the following compounds are not arranged in correct order

as indicated?

A.SrCLy, < CaCly < MgCly, < BeCl, (increasing of hydrolysis)

B. SrCly, < CaCly, < MgCly, < BeCl, (increasing lattice energy)

C.CaS0O,4 < MgS0O,4 < BeSOy (increasing stability)


https://dl.doubtnut.com/l/_kFtFD3lAjfRe
https://dl.doubtnut.com/l/_22fJxGjZUbn2
https://dl.doubtnut.com/l/_MwpZ8Ph8x07p

D. Be(OH), < Mg(OH), < Ca(OH), (increasing solubility)

Answer: C

o View Text Solution

16. Sulphates of Be and Mg are readily soluble in water but sulphates of
Ca, Sr and Ba are insoluble. This is due to the fact
A. the greater hydration enthapies of Be®" and Mg®" overcome the
lattice enthalpy
B. high lattice enthalpy of Be?™ and Mg?" makes them soluble in
water
C. solubility decreases from BeSO, to BaSO, due to increase in ionic
size
D. BeSO4 and MgSO, are ionic in nature while other sulphates are

covalent


https://dl.doubtnut.com/l/_MwpZ8Ph8x07p
https://dl.doubtnut.com/l/_8xenjgRTQGEw

Answer: A

° Watch Video Solution

17. The correct order of solubility of the sulphates of alkaline earth metals

in water is

A.Be > Ca > Mg > Ba > Sr

B.Mg > Be > Ba > Ca > Sr

C.Be > Mg > Ca > Sr > Ba

D. Mg > Ca > Ba > Be > Sr

Answer: C

° Watch Video Solution

Anomalous Behaviour Of Beryllium



https://dl.doubtnut.com/l/_8xenjgRTQGEw
https://dl.doubtnut.com/l/_LBHuIjOv2Aqj

1. Beryllium shows diagonal relationship with aluminium. Which of the

following similarly is incorrect?

A. Be,C like Al,C5 yields methane on hydrolysis
B. Be like Al is rendered passive by HNOj3
C. Be(OH), like AI(OH), is basic

D. Be forms beryllates and Al forms aluminates.

Answer: C

o Watch Video Solution

2. Which of the following does not show diagonal relationship between

beryllium and aluminium?

A.Both BeO and Al,O3 are amphoteric in nature.

B. Both beryllium and aluminium form polymeric covalent hydrides.


https://dl.doubtnut.com/l/_dqWf8nmAB22r
https://dl.doubtnut.com/l/_uKIHuq5KFufj

C.Both beryllium and aluminium form nitrides with nitrogen which

evolve N Hj with water.

D. Both metal carbonates are highly stable.

Answer: D

o Watch Video Solution

3. Which of the following is not the point of difference between Be and

other alkline earth metals?

A. It has a tendency to form covalent bonds.

B. It dissolves in alkalies with evolution of hydrogen

C. Its oxides and hydroxides are amphoteric.

D. its carbide gives acetylene on hydrolysis.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_uKIHuq5KFufj
https://dl.doubtnut.com/l/_7XdbWjPOr8Ql

4. Which of the following is not a similarly of beryllium with aluminium?

A. It becomes passive when treated with conc. HNO3.

B. It forms polymerric covalent hydrides

C. Carbonate of Be is extremely stable

D. saltts of Be do not impart colour to the flame.

Answer: C

° Watch Video Solution

Some Important Compounds Of Calcium

1. Identify W, X, Y and Z respectively in the given reactions.
A
CaCO3 — W + X

Y +Z — NaOH + CaCOs


https://dl.doubtnut.com/l/_7XdbWjPOr8Ql
https://dl.doubtnut.com/l/_Apme592vT0dU
https://dl.doubtnut.com/l/_CukDcKQ9FPGE

A CCLO, 002, CGCOg, NCL2C03
B.CO,, Ca(OH),, Ca(HCO),, NaHCO;
C.Ca0, CO,, Ca(OH),, Na;yCOs

D. 002, CCLO, HQCOg, NGQCOg

Answer: C

o Watch Video Solution

2.Slaked lime reacts with chlorine to form

A CCLCZQ

B.CaO

C.CaOCl,

D.CaCO3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_CukDcKQ9FPGE
https://dl.doubtnut.com/l/_bEeHqSKxGe8e

3. An element X burns in nitrogen to give a compound Y which on
reaction with water gives a compound Z and a gas with a pungent smell.
Z can be used during construction and white washing. When excess of
CO, is bubbled through 7, a compound P is formed which on heeating
decomposes to give a compourless, odourless gas. identify X, Y, Z and P.

A X —Ca,Y — Ca3zN,, Z — Ca(OH),, P — Ca(HCOs),

B.X — Mg,Y — MgO, Z — Mg(OH),, P — MgCOs

C.X—-CaY —CagN,, Z — Ca(OH),, P — CaCO;

D.X — Ca,Y — CaO, Z — Ca(OH),, P — Ca(HCOs),

Answer: A

o Watch Video Solution

4. when plaster of paric comes in contact with water it sets into a hard

mass. The composition of the hard mass is


https://dl.doubtnut.com/l/_bEeHqSKxGe8e
https://dl.doubtnut.com/l/_zhHQNArmguld
https://dl.doubtnut.com/l/_kxOapsbfmTix

A. CCLSO4 . H2O
B.CaSO, - Ca(OH),
C.CaS0O, - 2H,0

D. CaSO, - 2Ca(OH),

Answer: C

o Watch Video Solution

5. Which of the following is not present in portland cement?
A CagAZQO(;
B. CCL3S’iO5
C. CGZS’I:O4

D. Ca3(PO4)2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_kxOapsbfmTix
https://dl.doubtnut.com/l/_KcvLYPtQIXpK

6. The difference of number of water molecules in gypsum and plaster of

Pairs is

A5
2

Answer: D

o Watch Video Solution

7.Gypsum is added to portland cement to

A. fasten the process of setting

B. slow down the process of setting

C.improve the colour of the cement


https://dl.doubtnut.com/l/_KcvLYPtQIXpK
https://dl.doubtnut.com/l/_Id5K6lDUYaSY
https://dl.doubtnut.com/l/_VgzDeasN3XrX

D. increase the melting point of cement.

Answer: B

° Watch Video Solution

8.The average composition of portland cement is

A.CaO:40 — 50%,5’&0230 - 40%,Al203,F6203210 - 20%

Ca0:50 — 60% , Si05:20 — 25% , Al,O3:5 — 10% , MgO:2 — 3%

CS’LOQ40—50%,00030—40%,Al20310—20%

D.Ca0:50 %, Si0,:50 %

Answer: B

° Watch Video Solution

Biological Importance Of Magnesium And Calcium



https://dl.doubtnut.com/l/_VgzDeasN3XrX
https://dl.doubtnut.com/l/_EwRLttJP0otz

1. The metal ion which plays an important role in muscle contraction is

A Be’t
B. Mg?*
C.Ca**

D. Ba®™

Answer: C

o Watch Video Solution

2. Which of the following metals is required as cofactor byh all enzymes

utilisation ATP in phosphate transfer?

A K

B.Ca

C.Na


https://dl.doubtnut.com/l/_bs61C7NE3Cui
https://dl.doubtnut.com/l/_ExSKLmh56FpI

D. Mg

Answer: D

° Watch Video Solution

Higher Order Thinking Skills

1. The low solubility of LiF and that of Csl in water are respectively due to

which of the properties of the alkali metal ions?

A. Higher hydration enthalpy of Li ", higher lattice enthalpy of Cs*
B. Smaller hydration enthalpy of Li ", higher latttice enthalpy of C's ™
C. Smaller lattice enthalpy of Li *, higher hydration enthalpy of C's *

D. Higher lattice enthalpy of Li ", smaller hydration enthalpy of Cs ™.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ExSKLmh56FpI
https://dl.doubtnut.com/l/_3jZdtjlErY58

2. The violet flame shown by potassium in bunsen flame is due to jumping
of the electron from

A.1sto 4p

B. 1s tto 5p

C.4p to 4s

D. 5p to 4s

Answer: D

o Watch Video Solution

3. A compound of sodium does not give CO, when heated but it gives
CO; when treated with dilute acids. A crystalline compound is found to
have 371% Na and 14.52% H,O. Hence, compound is

A. NaHCO; - 10H,0

B. NCLHCO3 . 5H20


https://dl.doubtnut.com/l/_wKaCnrijcdOJ
https://dl.doubtnut.com/l/_qiU3tldzIABp

C. NGQCOg : 10H20

D. Na,COs - H,0

Answer: D

° Watch Video Solution

4. Nuclear attraction is often the deciding control factor for the
association of neutral molecules to a given metal ion. Which onee of the
following represents the correct order of stability of the ions?

[Be(H,0),]* ", [Mg(H,0),)* ", [Ca(H,0),]*" and [Sr(H,0),}"

[Be(H204]2+ > [Sr(H204]2+ > [Mg(H,0),]*" > [Ca(H,0),]""

2+

[Ca(H,0),]*" > [Mg(H,0),]*" > [Be(H,0),]”" > > [S(H,0)

[Sr(H,0),]”" > [Ca(H,0),]*" > [Mg(H,0),]*" > [Be(H,0),]


https://dl.doubtnut.com/l/_qiU3tldzIABp
https://dl.doubtnut.com/l/_WVL25xADyG2t

[Be(H,0),]*" > [Mg(H,0),)*" > [Ca(H,0),]*" > [Srr(H,0),

Answer: D

° Watch Video Solution

5. Be and Al exhibit diagonal relationship. Which of the following
statements about them is/are not true?

(i) both react with HCl to liberate H,.

(ii) Theey are made passive by HNOs.

(iii) Their carbides give acetylene on treatment with water.

(iv) Their oxides are amphoteric.

A. (iii) and (iv)

B. (i) and (iii)

C. (i) only

D. (iii) only


https://dl.doubtnut.com/l/_WVL25xADyG2t
https://dl.doubtnut.com/l/_51tkDHwTs8ZE

Answer: D

° Watch Video Solution

6. A metal M readily forms its sulphate MSO, which is water soluble. It
forms its oxide MO which becomes inert on heating. It forms its
insoluble hydroxide M(OH), which is soluble in NaOH solution. Then
M is

A. Be

B. Ba

C.Ca

D. Mg

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_51tkDHwTs8ZE
https://dl.doubtnut.com/l/_qKU0lAzRKI6a

7. A metal salt solution forms a yellow precipitate with potassium
chromate in acetic acid, a white precipitate with dilute sulphuric acid but
does not give precipitate with sodium chloride or iodide. The white
precipitate obtained when sodium carbonate is added to the metal salt
solution will consist of

A. lead carbonate

B. basic lead carbonate

C. barium carbonate

D. strontium carbonate.

Answer: C

° Watch Video Solution

8. The element A burns in nitrogen to give an ionic compound B. the
compound B reacts with water to give C and D. A solution of C becomes

milkly on bubbling carbon dioxide. What is the natrue of compound (D)?


https://dl.doubtnut.com/l/_5k9aZRXfLYrX
https://dl.doubtnut.com/l/_iIn2hWPHiTN7

A. Acidic

B. Basic

C. Amphoteric

D. Neutral

Answer: B

o Watch Video Solution

9. The stability off K,O,K;0y and KO, is in order

K,0 < Ky05 < KQOs. This increasing stability as the size of metal ion

increases is due to stabilisation of

A. larger cation by smaller anions through lattice energy effects

B. larger cation by larger anions through lattice energy effects

C. smaller cations by smaller anions through melting point

D. smaller cations by larger anions through melting point.


https://dl.doubtnut.com/l/_iIn2hWPHiTN7
https://dl.doubtnut.com/l/_qiKh0po1o7Ui

Answer: B

° Watch Video Solution

Ncert Exemplar

1. The alkali metals have low melting point. Which of the following alkali

metal is expected to melt if the room temperature rises to 30°C'?

A.Na
B.K
C.Rb

D.Cs

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_qiKh0po1o7Ui
https://dl.doubtnut.com/l/_lynqyJvCm2iO

2. Alkali metals react with water vigorously to form hydroxides and
dihydrogen. Which of the following alkali metals reacts with water least
vigorously ?

A.Li

B. Na

C.K

D.Cs

Answer: A

o Watch Video Solution

3. The reducing power of a metal depends on various factors. Suggest the

factor which makes Li, the strongest reducing agent in aqueous solution.

A. Sublimation enthalpy

B. lonisation enthylpy


https://dl.doubtnut.com/l/_2YFq1eZemvma
https://dl.doubtnut.com/l/_cyk0F8AWgYr9

C. Hydration enthalpy

D. Electron-gain enthalpy

Answer: C

° Watch Video Solution

4. Metal carbonates decompose on heating to give metal oxide and

carbon dioxide. Which of the metal carbonates is most stable thermally?

A M9003

B. CaCO;

C. S’I"COg

D. BGCO3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_cyk0F8AWgYr9
https://dl.doubtnut.com/l/_R1dGc1q1h6mY
https://dl.doubtnut.com/l/_7tc7yAOsuXmT

5. Which of the carbonates given below is unstable in air and is kept in

COy atmosphere to avoid decomposition?

A. BGCO:),

C.CaCOg

D. BaCOs

Answer: A

o Watch Video Solution

6. Metals form basic hydroxides. Which of the following metal hydroxide
is the least basic?

A.Mg(OH),

B.Ca(OH),

C.Sr(OH),


https://dl.doubtnut.com/l/_7tc7yAOsuXmT
https://dl.doubtnut.com/l/_3jrdMGu3RGrW

D. Ba(OH),

Answer: A

° Watch Video Solution

7.Some of the Group 2 metal halides are covalent and soluble in organic
solvents. Among the following metal halides, the one which is soluble in
ethanol is

A. BGCl2

B. MgCl2

C. CGClg

D. S’I"ClQ

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_3jrdMGu3RGrW
https://dl.doubtnut.com/l/_4DbksoDiHifW
https://dl.doubtnut.com/l/_Huw58O4GhcPO

8.The order of decreasing ionisation ethalpy in alkali metals is

A.Na > Li > K > Rb

B.Rb< Na < K < Li

C.Li > Na > K > Rb

D.K < Li < Na < Rb

Answer: C

o Watch Video Solution

9. The solubility of metal halides depends on their nature, Lattice

enthalpy and hydration enthalpy of the individual ions. Amongst fluorides

of alkali metals, the lowest solubility of LiF in water is due to

A. ionic nature of lithium fluoride

B. high lattice enthalpy

C. high hydration enthalpy for lithium ion


https://dl.doubtnut.com/l/_Huw58O4GhcPO
https://dl.doubtnut.com/l/_up2H2agRcHus

D. low ionisation enthalpy of lithium atom

Answer: B

° Watch Video Solution

10. Amphoteric hydroxides react with both alkalies and acids. Which of
the following Group 2 metal hydroxides is soluble in sodium hydroxide?
A. Be(OH),
B. Mg(OH),
C.Ca(OH),

D. Ba(OH),

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_up2H2agRcHus
https://dl.doubtnut.com/l/_3sujmuugjpVG

11. In the synthesis of sodium carbonate, the recovery of ammonia is done
by treating NH,Cl with Ca(OH),. The by-product obtained in this
process is

A. CaCl,

B. NaCl

C. NaOH

D. NaHC'03

Answer: A

o Watch Video Solution

12. When sodium is dissolved in liquid ammonia, a solution of deep blue

colour is obtained. The colour of the solution is due to

A. ammoniated electron

B. sodium ion


https://dl.doubtnut.com/l/_CrxZ5c2nbdKB
https://dl.doubtnut.com/l/_TF02MHbGDO5y

C.sodium amide

D. ammoniated sodium ion

Answer: A

° Watch Video Solution

13. By adding gypsum to cement

A. setting time of cement becomes less
B. setting time of cement increases
C. colour of cement becomes light

D. shining surface is obtained

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_TF02MHbGDO5y
https://dl.doubtnut.com/l/_cFbagJDOzlyS

14. Dead burnt plaster is

A. CCLSO4

1
B. CaSO4 . §H2O
C.CaS0Oy - H,O

D.CaSOy - 2H,0

Answer: A

o Watch Video Solution

15. Suspension of slaked lime in water is known as

A. lime water

B. quick lime

C. milk of lime

D. aqueous solution of slaked lime


https://dl.doubtnut.com/l/_ugK1oTolTBqR
https://dl.doubtnut.com/l/_heW3RlVVTX4A

Answer: C

° Watch Video Solution

16. Which of the followingg elements does not form hydride by direct

heating with dihydrogen?

A. Be

B. Mg

C.Sr

D.Ba

Answer: A

° Watch Video Solution

17. The formula of soda ash is


https://dl.doubtnut.com/l/_heW3RlVVTX4A
https://dl.doubtnut.com/l/_00k3yI30vNXS
https://dl.doubtnut.com/l/_cBTIgOj2CiVg

A Na2C'O3 : 10H20

B. NayCOs - 2H,0

C. Na2C’O3 : HzO

D. N(IQCOg

Answer: D

o Watch Video Solution

18. A substance which gives a brick red flame and breaks down on heating

to give oxygen and a brown gas is

A. magnesium nitrate

B. calcim nitrate

C. barium nitrate

D. strontium nitrate

Answer: B



https://dl.doubtnut.com/l/_cBTIgOj2CiVg
https://dl.doubtnut.com/l/_mr2nVc10YciL

| o Watch Video Solution

19. Which of the following statements is true about Ca(OH),?

A. It is sued in the preparation of bleaching powder.
B. It is a light blue solid.
C. it does not possess disinfectant property

D. it is used in the manufacture of cement.

Answer: A

o Watch Video Solution

20. A chemical A is used for the preparation of washing soda to recover
ammonia. When CO, is bubbled through an aqueous solution of A, the
solution turns milky. It is used in white washing due to disinfectant

nature what is the chemical formula of A?


https://dl.doubtnut.com/l/_mr2nVc10YciL
https://dl.doubtnut.com/l/_5mZjhvGUjXdY
https://dl.doubtnut.com/l/_B7ISe6bxcDhQ

A CG(H003)2
B. CaO
C.Ca(OH),

D. CaCO?,

Answer: C

o Watch Video Solution

21. Dehydration of hydrates of halides of calcium, barium and strontium
ie, CaCl,. 6H,0, BaCI,.2H,0, SrCI,.2H,O, can be achieved by
heating. These become wet on keeping in air. Which of the following
statements is correct about these halides?

A. Act as dehydrating agent.

B. Can adsorb moisture from air

C. Tendency to form hydrate decreases from calcium to barium

D. All of the above


https://dl.doubtnut.com/l/_B7ISe6bxcDhQ
https://dl.doubtnut.com/l/_EkdMlII7MRvX

Answer: D

° Watch Video Solution

Assertion And Reason

1. Assertion: Elements of group 1 are called 'alkali metals'.

Reason: All the alkali metals react with water.

A.If both assertion and reason are true and reason is the correct
explanation of assertion

B. If both assertion and reason are true but reason is not the correct
explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

| ° Wiak~h \tAaAaA CAlLiikiAan



https://dl.doubtnut.com/l/_EkdMlII7MRvX
https://dl.doubtnut.com/l/_20tePNnOmn46

| & AAA-LASIEER ALSAYAreiYAIL"A LN J

2. Assertion: Lithium resembles magnesium diagonally placed in next

group.
Reason: The size of Li" and Mg>" are different and their
electropositive character is same.
A.If both assertion and reason are true and reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion
C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_20tePNnOmn46
https://dl.doubtnut.com/l/_qvmrykrdtwr7

3. Assertion: Alkali metals are obtained by electrolysis of molten salt and
not aqueous solution.
Reason: The discharge potential of H * ions is lower than alkali metals
cation hence hydrogen is dicharged at cathode instead of metal.
A.If both assertion and reason are true and reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion

C.If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NikatfjU3EkW

4. Assertion: Lithium salts are mostly hydrated.

Reason: The hydration enthalpies of alkalie metal ions decrease with

increase in ionic sizes.

A.If both assertion and reason are true and reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

o Watch Video Solution

5. Assertion: The melting and boiling points of the alkali metals are low.

Reason: Alkali metals have weak metalli bonding.


https://dl.doubtnut.com/l/_LEycei28hYSB
https://dl.doubtnut.com/l/_AnXpGBFOjL36

A.If both assertion and reason are true and reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

° Watch Video Solution

6. Assertion: Lithium fluoride is most covalent in nature.

Reason: Small anion can be easily distorted.

A.If both assertion and reason are true and reason is the correct

explanation of assertion


https://dl.doubtnut.com/l/_AnXpGBFOjL36
https://dl.doubtnut.com/l/_rkHNutshuKuK

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: D

o Watch Video Solution

7. Assertion: The carbonate of lithium decomposes easily on heating.

Reason: Lithium being very small in size polarises large carbonate ion

leading to the formation of more stable Li;O and CO,.

A.If both assertion and reason are true and reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but reason is false.


https://dl.doubtnut.com/l/_rkHNutshuKuK
https://dl.doubtnut.com/l/_iQRZoPbRp5OQ

D. If both assertion and reason are false.

Answer: A

o Watch Video Solution

8. Assertion : Super-oxides of alkali metals are para-magnetic.
Reason : Super-oxides contain the ion 02_ which has one unpaired
electron.
A.If both assertion and reason are true and reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion
C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

[ - |


https://dl.doubtnut.com/l/_iQRZoPbRp5OQ
https://dl.doubtnut.com/l/_uzVN0M5R90wx

| @ Watch Video Solution J

9. Assertion: Be and Mg do not impat characteristic colour to the flame.

Reason: both Be and Mg have high ionization energy.

A.If both assertion and reason are true and reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

o Watch Video Solution

10. Assertion: The fluorides of alkaline earth metals are relatively less

soluble than chlorides.


https://dl.doubtnut.com/l/_uzVN0M5R90wx
https://dl.doubtnut.com/l/_tEpMtOqHpQzt
https://dl.doubtnut.com/l/_S6vlWhX6U8JB

Reason: Fluorides have high latttice energies.

A.If both assertion and reason are true and reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

° Watch Video Solution

11. Assertion: Be is readily attacked by acids.

Reason: Be shows diagonal relationship to Na.

A.If both assertion and reason are true and reason is the correct

explanation of assertion


https://dl.doubtnut.com/l/_S6vlWhX6U8JB
https://dl.doubtnut.com/l/_4VXZWCDNe7gz

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: D

o Watch Video Solution

12. Assertion: Alkaline earth metal oxides are quite stable to heat.

Reason: Enthalpies of formation of alkaline earth metal oxides are quite

high.

A. If both assertion and reason are true and reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but reason is false.


https://dl.doubtnut.com/l/_4VXZWCDNe7gz
https://dl.doubtnut.com/l/_RscZZJ2LeUTJ

D. If both assertion and reason are false.

Answer: A

° Watch Video Solution

13. Assertion: BeSO, and M ¢SO, are insoluble in water.
Reason: Be?' and Mg®™ have low hydration enthalpies.
A.If both assertion and reason are true and reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion
C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RscZZJ2LeUTJ
https://dl.doubtnut.com/l/_UTSpqyDV5ZGU

14. Assertion: CaCOs is prepared by passing carbon dioxide gas through
slaked lime.
Reason: Passingg excess of CO, through slaked lime leads to the
formation off quick lime.
A.If both assertion and reason are true and reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_UTSpqyDV5ZGU
https://dl.doubtnut.com/l/_lwv39PaRT8s9

15. Assertion: For biological functions in human body, barium is not
required.
Reason: Barium is a divalent ion.
A.If both assertion and reason are true and reason is the correct
explanation of assertion
B. If both assertion and reason are true but reason is not the correct
explanation of assertion
C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_gQk4QDgnX1DH

